
Stud Spacing BF Weight

1'- 4" 202.00 lb

Holdback: 0'- 1/8" Extend: 0'- 5/8"

A

B

C DE F

50

60

6'- 11 1/4"

0'- 7"4' 4'

SHEATHING

8'- 6 1/2"

O/A FRAMING

7'- 3/4"

ROOMSquare: 12'- 4 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 1/8" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 8'- 6 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 8'- 6 1/2" 0'

C Stud 2x6 SPF No.2 (9) 8'- 8 5/8" 0'

D Flat Stud 2x6 SPF No.2 (1) 8'- 8 5/8" 0'

E Sheathing 7/16" 4x9 OSB (2) 9' 4'

F Sheathing 7/16" 4x9 OSB (1) 9' 0'- 7"

Job: Elevation Report
Page: 1 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 1

1



Stud Spacing BF Weight

1'- 4" 16 400.00 lb

28302830
Holdback: 0'- 3/4" Extend: 0'- 5 1/2"

A

B

C

D

E

F

G

H

I

J K

L

M
N

O

61 3

0'- 6" 3'- 8" 6'- 2 3/4" 7'- 8" 10'- 10"

3'- 3 1/8"3'- 6 1/2" 3'- 10 7/8"

SHEATHING

11'- 6"

O/A FRAMING

2'- 8" 2'- 8"

4'- 10 1/4"6'- 4 1/4"

ROOMSquare: 14'- 7"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 11'- 6" 0'

B Top Plate 2x6 SPF No.2 (1) 11'- 6" 0'

C King Stud 2x6 SPF No.2 (4) 8'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (4) 6'- 6 1/2" 0'

E Header 2x8 SP No.1 (4) 2'- 11" 0'

F Header Sill 2x6 SPF No.2 (2) 2'- 11" 0'

G Window Sill 2x6 SPF No.2 (2) 2'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (7) 3'- 5" 0'

I Header Cripple 2x6 SPF No.2 (8) 1'- 5 3/8" 0'

J Stud 2x6 SPF No.2 (6) 8'- 8 5/8" 0'

K Flat Stud 2x6 SPF No.2 (1) 8'- 8 5/8" 0'

L Sheathing 7/16" 4x9 OSB (1) 9' 3'- 6 1/2"

M Sheathing 7/16" 4x9 OSB (1) 9' 3'- 10 7/8"

N Sheathing 7/16" 4x9 OSB (1) 9' 3'- 3 1/8"

O Sheathing 7/16" 4x9 OSB (1) 9' 1'- 2 1/4"

Job: Elevation Report
Page: 2 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 2

2



Stud Spacing BF Weight

1'- 4" 211.00 lb

Flush Holdback: 0'- 1/8"

A

B

C D E F

2

4

2'- 1 7/8"4' 4'

SHEATHING

10'- 2"

O/A FRAMING

9'- 8 1/2"

ROOMSquare: 13'- 6 11/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" - -0'- 1/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 10'- 2" 0'

B Top Plate 2x6 SPF No.2 (1) 10'- 2" 0'

C Stud 2x6 SPF No.2 (9) 8'- 8 5/8" 0'

D Flat Stud 2x6 SPF No.2 (1) 8'- 8 5/8" 0'

E Sheathing 7/16" 4x9 OSB (2) 9' 4'

F Sheathing 7/16" 4x9 OSB (1) 9' 2'- 1 7/8"

Job: Elevation Report
Page: 3 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 3

3



Stud Spacing BF Weight

1'- 4" 8 254.00 lb

2860
Holdback: 0'- 6 1/8" Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

J K
L

M

66

3

2'- 2" 5'- 4"

2'- 8 1/8"4'

SHEATHING

7'- 1 5/8"

O/A FRAMING

2'- 8"

0'- 6" 6'- 7 5/8"

ROOMSquare: 12'- 3 1/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 6 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 7'- 1 5/8" 0'

B Top Plate 2x6 SPF No.2 (1) 7'- 1 5/8" 0'

C King Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 7'- 10 1/2" 0'

E Header 2x8 SP No.1 (2) 2'- 11" 0'

F Header Sill 2x6 SPF No.2 (1) 2'- 11" 0'

G Window Sill 2x6 SPF No.2 (1) 2'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (4) 1'- 9" 0'

I Header Cripple 2x6 SPF No.2 (4) 1'- 1 3/8" 0'

J Stud 2x6 SPF No.2 (4) 9'- 8 5/8" 0'

K Flat Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

L Sheathing 7/16" 4x10 OSB (1) 10' 4'

M Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8 1/8"

Job: Elevation Report
Page: 4 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 4

4



Stud Spacing BF Weight

1'- 4" 8 212.00 lb

2860
Holdback: 0'- 3/4" Extend: 0'- 5 1/2"

A

B

C

D

E

F

G

H

I

J

K

L

6

1'- 10 3/8" 5'- 3/8"

2'- 1 3/8"3'- 11 3/4"

SHEATHING

5'- 8 3/8"

O/A FRAMING

2'- 8"

5'- 8 3/8"

ROOMSquare: 11'- 5 13/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 5'- 8 3/8" 0'

B Top Plate 2x6 SPF No.2 (1) 5'- 8 3/8" 0'

C King Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 7'- 10 1/2" 0'

E Header 2x8 SP No.1 (2) 2'- 11" 0'

F Header Sill 2x6 SPF No.2 (1) 2'- 11" 0'

G Window Sill 2x6 SPF No.2 (1) 2'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (4) 1'- 9" 0'

I Header Cripple 2x6 SPF No.2 (4) 1'- 1 3/8" 0'

J Stud 2x6 SPF No.2 (4) 9'- 8 5/8" 0'

K Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 3/4"

L Sheathing 7/16" 4x10 OSB (1) 10' 2'- 1 3/8"

Job: Elevation Report
Page: 5 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 5

5



Stud Spacing BF Weight

1'- 4" 16 297.00 lb

2-2860
Flush Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

J K L M

5

3'- 1/2" 9'- 1 1/2"

4'4'

SHEATHING

9'- 1 1/2"

O/A FRAMING

5'- 4"

8'- 8"

ROOMSquare: 13'- 6 3/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" - 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 9'- 1 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 9'- 1 1/2" 0'

C King Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (4) 7'- 10 1/2" 0'

E Header 2x8 SP No.1 (2) 5'- 10" 0'

F Header Sill 2x6 SPF No.2 (1) 5'- 10" 0'

G Window Sill 2x6 SPF No.2 (1) 5'- 4" 0'

H Sill Cripple 2x6 SPF No.2 (6) 1'- 9" 0'

I Header Cripple 2x6 SPF No.2 (6) 1'- 1 3/8" 0'

J Stud 2x6 SPF No.2 (3) 9'- 8 5/8" 0'

K Flat Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

L Sheathing 7/16" 4x10 OSB (2) 10' 4'

M Sheathing 7/16" 4x10 OSB (1) 10' 1'- 2 1/8"

Job: Elevation Report
Page: 6 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 6

6



Stud Spacing BF Weight

1'- 4" 174.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C DE F

69

5'- 6"

2'- 6 1/4"3'- 11 1/4"

SHEATHING

6'- 5 5/8"

O/A FRAMING

5'- 7 1/2"

ROOMSquare: 11'- 10 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 6'- 5 5/8" 0'

B Top Plate 2x6 SPF No.2 (1) 6'- 5 5/8" 0'

C Stud 2x6 SPF No.2 (7) 9'- 8 5/8" 0'

D Flat Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

E Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 6 1/4"

Job: Elevation Report
Page: 7 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 7

7



Stud Spacing BF Weight

1'- 4" 15 247.00 lb

3080-2
Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F

G

H IJ K L

70

0'- 5 5/8"

6'- 2 5/8"

6'- 10 5/8"

2'- 11 3/8"3'- 11 1/4"

SHEATHING

8'

O/A FRAMING

5'- 3"

7'- 1/8"

ROOMSquare: 12'- 9 3/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C King Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 8'- 1 1/2" 0'

E Header 2x8 SP No.1 (2) 5'- 6" 0'

F Header Sill 2x6 SPF No.2 (1) 5'- 6" 0'

G Header Cripple 2x6 SPF No.2 (6) 0'- 10 3/8" 0'

H Stud 2x6 SPF No.2 (4) 9'- 8 5/8" 0'

I Flat Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

J Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

K Sheathing 7/16" 4x10 OSB (1) 10' 2'- 11 3/8"

L Sheathing 7/16" 4x10 OSB (1) 10' 1'- 1 1/4"

Job: Elevation Report
Page: 8 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 8

8



Stud Spacing BF Weight

1'- 4" 149.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C DE F

72

2'- 8 5/8"

3'- 11 1/4"

SHEATHING

5'- 1 7/8"

O/A FRAMING

2'- 1/4"2'- 10 1/8"

ROOMSquare: 11'- 2 11/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 5'- 1 7/8" 0'

B Top Plate 2x6 SPF No.2 (1) 5'- 1 7/8" 0'

C Stud 2x6 SPF No.2 (6) 9'- 8 5/8" 0'

D Flat Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

E Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

F Sheathing 7/16" 4x10 OSB (1) 10' 1'- 2 1/2"

Job: Elevation Report
Page: 9 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 9

9



Stud Spacing BF Weight

1'- 4" 16 231.00 lb

2-2860
Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

JK L

6'- 1"

2'- 8 5/8"3'- 11 1/4"

SHEATHING

6'- 8"

O/A FRAMING

5'- 4"

6'- 8"

ROOMSquare: 11'- 11 15/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 6'- 8" 0'

B Top Plate 2x6 SPF No.2 (1) 6'- 8" 0'

C King Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (4) 7'- 10 1/2" 0'

E Header 2x8 SP No.1 (2) 5'- 10" 0'

F Header Sill 2x6 SPF No.2 (1) 5'- 10" 0'

G Window Sill 2x6 SPF No.2 (1) 5'- 4" 0'

H Sill Cripple 2x6 SPF No.2 (6) 1'- 9" 0'

I Header Cripple 2x6 SPF No.2 (6) 1'- 1 3/8" 0'

J Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

K Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

L Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8 5/8"

Job: Elevation Report
Page: 10 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 10

10



Stud Spacing BF Weight

1'- 4" 63.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5 1/2"

A

B

C D

12

2'- 4 3/4"

SHEATHING

2'

O/A FRAMING

2'

ROOMSquare: 10'- 2"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 2' 0'

B Top Plate 2x6 SPF No.2 (1) 2' 0'

C Stud 2x6 SPF No.2 (3) 9'- 8 5/8" 0'

D Sheathing 7/16" 4x10 OSB (1) 10' 2'- 4 3/4"

Job: Elevation Report
Page: 11 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 11

11



Stud Spacing BF Weight

1'- 4" 174.00 lb

Flush Holdback: 0'- 6 1/8"

A

B

C D E F

13

11

5'- 10 1/2"

1'- 11 3/8"4'

SHEATHING

6'- 5 1/2"

O/A FRAMING

5'- 6 1/2"

ROOMSquare: 11'- 10 9/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" - -0'- 6 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 6'- 5 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 6'- 5 1/2" 0'

C Stud 2x6 SPF No.2 (6) 9'- 8 5/8" 0'

D Flat Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

E Sheathing 7/16" 4x10 OSB (1) 10' 4'

F Sheathing 7/16" 4x10 OSB (1) 10' 1'- 11 3/8"

Job: Elevation Report
Page: 12 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 12

12



Stud Spacing BF Weight

1'- 4" 165.00 lb

Holdback: 0'- 1/8" Extend: 0'- 5/8"

A

B

C D E F

12

1'- 4 1/2"2'- 8"4'

SHEATHING

8'

O/A FRAMING

8'

ROOMSquare: 12'- 9 3/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 1/8" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C Stud 2x6 SPF No.2 (7) 9'- 8 5/8" 0'

D Sheathing 7/16" 4x10 OSB (1) 10' 4'

E Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

F Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 1/2"

Job: Elevation Report
Page: 13 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 13

13



Stud Spacing BF Weight

1'- 4" 8 238.00 lb

2860
Holdback: 0'- 3/4" Flush

A

B

C

D

E

F

G

H

I

J KL M

15

2'- 5 1/2" 5'- 7 1/2" 7'- 5"

3'- 11 1/4" 4' SHEATHING

8' O/A FRAMING

2'- 8"

7'- 6 1/2" ROOM

Square: 12'- 9 3/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" -

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C King Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 7'- 10 1/2" 0'

E Header 2x8 SP No.1 (2) 2'- 11" 0'

F Header Sill 2x6 SPF No.2 (1) 2'- 11" 0'

G Window Sill 2x6 SPF No.2 (1) 2'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (3) 1'- 9" 0'

I Header Cripple 2x6 SPF No.2 (4) 1'- 1 3/8" 0'

J Stud 2x6 SPF No.2 (4) 9'- 8 5/8" 0'

K Flat Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

L Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

M Sheathing 7/16" 4x10 OSB (1) 10' 4'

Job: Elevation Report
Page: 14 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 14

14



Stud Spacing BF Weight

1'- 4" 11 271.00 lb

4026
Extend: 0'- 5 1/2" Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

J
K

L M

14

1'- 4" 5'- 10"

1'- 4 5/8"2'- 8"4'

SHEATHING

7'- 6 1/2"

O/A FRAMING

4'

7'- 6 1/2"

ROOMSquare: 12'- 6"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" 0'- 5 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 7'- 6 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 7'- 6 1/2" 0'

C King Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 7'- 10 1/2" 0'

E Header 2x8 SP No.1 (2) 4'- 3" 0'

F Header Sill 2x6 SPF No.2 (1) 4'- 3" 0'

G Window Sill 2x6 SPF No.2 (1) 4' 0'

H Sill Cripple 2x6 SPF No.2 (5) 5'- 3" 0'

I Header Cripple 2x6 SPF No.2 (5) 1'- 1 3/8" 0'

J Stud 2x6 SPF No.2 (4) 9'- 8 5/8" 0'

K Sheathing 7/16" 4x10 OSB (1) 10' 4'

L Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

M Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 5/8"

Job: Elevation Report
Page: 15 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 15

15



Stud Spacing BF Weight

1'- 4" 150.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C DE F

79

4'- 1/4"

1'- 4 3/8"4'

SHEATHING

5'- 4 1/2"

O/A FRAMING

4'- 1 3/4"

ROOMSquare: 11'- 3 7/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 5'- 4 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 5'- 4 1/2" 0'

C Stud 2x6 SPF No.2 (6) 9'- 8 5/8" 0'

D Flat Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

E Sheathing 7/16" 4x10 OSB (1) 10' 4'

F Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 3/8"

Job: Elevation Report
Page: 16 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 16

16



Stud Spacing BF Weight

1'- 4" 8 224.00 lb

2860
Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

JK L M

3'- 2"

1'- 4 5/8"2'- 8"3'- 11 1/4"

SHEATHING

8'

O/A FRAMING

2'- 8"

8'

ROOMSquare: 12'- 9 3/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C King Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 7'- 10 1/2" 0'

E Header 2x8 SP No.1 (2) 2'- 11" 0'

F Header Sill 2x6 SPF No.2 (1) 2'- 11" 0'

G Window Sill 2x6 SPF No.2 (1) 2'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (4) 1'- 9" 0'

I Header Cripple 2x6 SPF No.2 (4) 1'- 1 3/8" 0'

J Stud 2x6 SPF No.2 (4) 9'- 8 5/8" 0'

K Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

L Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

M Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 5/8"

Job: Elevation Report
Page: 17 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 17

17



Stud Spacing BF Weight

1'- 4" 8 259.00 lb

2860
Holdback: 0'- 3/4" Flush

A

B

C

D

E

F

G

H

I

J KL M N

19

3'- 6" 6'- 8"

7'- 5 1/2"

1'- 3 3/4"2'- 8 3/4"3'- 11 1/4"

SHEATHING

8'- 1/2"

O/A FRAMING

2'- 8"

7'- 7"

ROOMSquare: 12'- 9 11/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" -

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 8'- 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 8'- 1/2" 0'

C King Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 7'- 10 1/2" 0'

E Header 2x8 SP No.1 (2) 2'- 11" 0'

F Header Sill 2x6 SPF No.2 (1) 2'- 11" 0'

G Window Sill 2x6 SPF No.2 (1) 2'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (4) 1'- 9" 0'

I Header Cripple 2x6 SPF No.2 (4) 1'- 1 3/8" 0'

J Stud 2x6 SPF No.2 (5) 9'- 8 5/8" 0'

K Flat Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

L Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

M Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8 3/4"

N Sheathing 7/16" 4x10 OSB (1) 10' 1'- 3 3/4"

Job: Elevation Report
Page: 18 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 18

18



Stud Spacing BF Weight

1'- 4" 97.00 lb

Extend: 0'- 5 1/2" Extend: 0'- 5/8"

A

B

C D
E F

G

H
I

J
K

18

3'- 5 1/2"

SHEATHING

3'- 5"

O/A FRAMING

3'- 5"

ROOMSquare: 11'- 7 3/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" 0'- 5 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 3'- 5" 0'

B Top Plate 2x6 SPF No.2 (1) 3'- 7 11/16" 0' /18.43 /18.43 

C Stud 2x6 SPF No.2 (1) 9'- 8 15/16" 0' \18.44 

D Stud 2x6 SPF No.2 (1) 10'- 3/16" 0' \18.43 

E Stud 2x6 SPF No.2 (1) 10'- 5 9/16" 0' \18.43 

F Stud 2x6 SPF No.2 (1) 10'- 10 1/8" 0' \18.43 

G Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/8"

H Sheathing 7/16" 4x10 OSB (1) 1'- 1 13/16" 3'- 5 1/2"

I Block 2x6 SPF No.2 (1) 0'- 4 3/4" 0' \71.57 

J Block 2x6 SPF No.2 (1) 1'- 2 1/2" 0'

K Block 2x6 SPF No.2 (1) 1'- 1/4" 0'

Job: Elevation Report
Page: 19 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 19

19



Stud Spacing BF Weight

1'- 4" 33 334.00 lb

2860-3
Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B C

D E

F

G

H

I

J

K L
M

N

O
P Q

R
S T

U
V

W

X Y

Z AA
AB AC

8'- 6"

1'- 4 5/8"3'- 11 1/4" 4'

SHEATHING

9'- 4"

O/A FRAMING

8'

9'- 4"

ROOMSquare: 14'- 4 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 9'- 4" 0'

AA Block 2x6 SPF No.2 (4) 1'- 2 1/2" 0'

AB Block 2x6 SPF No.2 (1) 0'- 3" 0'

AC Block 2x6 SPF No.2 (2) 0'- 8 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 4'- 8 5/8" 0' /18.43 /18.44 

C Top Plate 2x6 SPF No.2 (1) 5'- 2 7/16" 0' \18.43 \18.43 

D King Stud 2x6 SPF No.2 (1) 10'- 10 5/8" 0' \18.43 

E King Stud 2x6 SPF No.2 (1) 11'- 1/8" 0' /18.43 

F Jack Stud 2x6 SPF No.2 (2) 7'- 10 1/2" 0'

G Header 2x12 SP No.1 (2) 8'- 3" 0'

H Header Sill 2x6 SPF No.2 (1) 8'- 3" 0'

I Window Sill 2x6 SPF No.2 (1) 8' 0'

J Sill Cripple 2x6 SPF No.2 (8) 1'- 9" 0'

K Header Cripple 2x6 SPF No.2 (1) 1'- 11 7/8" 0' \18.44 

L Header Cripple 2x6 SPF No.2 (1) 2'- 4 7/16" 0' \18.44 

M Header Cripple 2x6 SPF No.2 (1) 2'- 9 13/16" 0' \18.44 

N Header Cripple 2x6 SPF No.2 (1) 3'- 3 1/8" 0' \18.43 

O Header Cripple 2x6 SPF No.2 (1) 3'- 4 5/8" 0' \18.43 

Job: Elevation Report
Page: 20 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 20

20



Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

P Header Cripple 2x6 SPF No.2 (1) 3'- 4 5/8" 0' /18.43 

Q Header Cripple 2x6 SPF No.2 (1) 3'- 1 5/16" 0' /18.44 

R Header Cripple 2x6 SPF No.2 (1) 2'- 7 15/16" 0' /18.43 

S Header Cripple 2x6 SPF No.2 (1) 2'- 2 5/8" 0' /18.43 

T Header Cripple 2x6 SPF No.2 (1) 2'- 1 3/8" 0' /18.44 

U Stud 2x6 SPF No.2 (1) 10'- 8 13/16" 0' /18.44 

V Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

W Sheathing 7/16" 4x10 OSB (1) 2'- 7 3/8" 9'- 3 7/8"

X Sheathing 7/16" 4x10 OSB (1) 10' 4'

Y Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 5/8"

Z Block 2x6 SPF No.2 (1) 1'- 1/4" 0'

Job: Elevation Report
Page: 21 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 20 Continued

20



Stud Spacing BF Weight

1'- 4" 93.00 lb

Holdback: 0'- 3/4" Holdback: 0'- 1/8"

A

B

C
D

E
F

G

H

I J

22

2'- 8 5/8"

SHEATHING

2'- 9 1/2"

O/A FRAMING

2'- 9 1/2"

ROOMSquare: 10'- 4 13/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" -0'- 1/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 2'- 9 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 2'- 11 13/16" 0' \18.43 \18.43 

C Stud 2x6 SPF No.2 (1) 10'- 8 5/16" 0' /18.44 

D Stud 2x6 SPF No.2 (1) 10'- 3 3/16" 0' /18.43 

E Stud 2x6 SPF No.2 (1) 9'- 10 1/8" 0' /18.43 

F Stud 2x6 SPF No.2 (1) 9'- 9 5/8" 0' /18.44 

G Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8 5/8"

H Sheathing 7/16" 4x10 OSB (1) 0'- 11 9/16" 2'- 8 5/8"

I Block 2x6 SPF No.2 (1) 1'- 1 3/4" 0'

J Block 2x6 SPF No.2 (1) 1'- 1 3/4" 0' \71.51 

Job: Elevation Report
Page: 22 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 21

21



Stud Spacing BF Weight

1'- 4" 80.00 lb

Holdback: 0'- 6 1/8" Extend: 0'- 5 1/2"

A

B

C D E

23

21

1'- 11 3/8"

SHEATHING

2'

O/A FRAMING

1'- 6 1/2"

ROOMSquare: 10'- 2"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 6 0'- 5 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 2' 0'

B Top Plate 2x6 SPF No.2 (1) 2' 0'

C Stud 2x6 SPF No.2 (3) 9'- 8 5/8" 0'

D Flat Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

E Sheathing 7/16" 4x10 OSB (1) 10' 1'- 11 3/8"

Job: Elevation Report
Page: 23 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 22

22



Stud Spacing BF Weight

1'- 4" 178.00 lb

Flush Flush

A

B

C

D

E F G H

22

5'- 2 1/2"

1'- 8 1/2"4'

SHEATHING

5'- 8 1/2"

O/A FRAMING

5'- 3"

ROOMSquare: 11'- 5 7/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" - -

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 5'- 8 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 5'- 8 1/2" 0'

C King Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (3) 7'- 10 1/2" 0'

E Stud 2x6 SPF No.2 (4) 9'- 8 5/8" 0'

F Flat Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

G Sheathing 7/16" 4x10 OSB (1) 10' 4'

H Sheathing 7/16" 4x10 OSB (1) 10' 1'- 8 1/2"

Job: Elevation Report
Page: 24 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 23

23



Stud Spacing BF Weight

1'- 4" 45.00 lb

A

B
C

6'- 8"

O/A FRAMING

6'- 8"

ROOMSquare: 6'- 8 7/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 6'- 8" 0'

B Top Plate 2x6 SPF No.2 (1) 6'- 8" 0'

C Stud 2x6 SPF No.2 (7) 0'- 8 3/4" 0'

Job: Elevation Report
Page: 25 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 24

24



Stud Spacing BF Weight

1'- 4" 41.00 lb

A

B
C

5'- 11"

O/A FRAMING

5'- 11"

ROOM
Square: 5'- 11 15/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 5'- 11" 0'

B Top Plate 2x6 SPF No.2 (1) 5'- 11" 0'

C Stud 2x6 SPF No.2 (7) 0'- 8 3/4" 0'

Job: Elevation Report
Page: 26 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 25

25



Stud Spacing BF Weight

1'- 4" 157.00 lb

Flush Holdback: 0'- 1/8"

A

B

C

D

E F G

27

4'

SHEATHING

5'- 1 1/2"

O/A FRAMING

5'- 1 1/2"

ROOMSquare: 11'- 2 1/2"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" - -0'- 1/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 5'- 1 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 5'- 1 1/2" 0'

C King Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (3) 7'- 10 1/2" 0'

E Stud 2x6 SPF No.2 (4) 9'- 8 5/8" 0'

F Sheathing 7/16" 4x10 OSB (1) 10' 4'

G Sheathing 7/16" 4x10 OSB (1) 10' 1'- 1 3/8"

Job: Elevation Report
Page: 27 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 26

26



Stud Spacing BF Weight

1'- 4" 15 294.00 lb

5/0 SGD
Holdback: 0'- 6 1/8" Flush

A

B

C

D

E

F

G

H I J K

26

28

0'- 1 1/2"0'- 10" 6'- 7"

2'- 5 3/8"4' SHEATHING

6'- 11 1/2" O/A FRAMING

5'- 3"

6'- 1/2" ROOM

Square: 12'- 1 7/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 6 0'

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 6'- 11 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 6'- 11 1/2" 0'

C King Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 8'- 1 1/2" 0'

E Header 2x8 SP No.1 (2) 5'- 6" 0'

F Header Sill 2x6 SPF No.2 (1) 5'- 6" 0'

G Header Cripple 2x6 SPF No.2 (6) 0'- 10 3/8" 0'

H Stud 2x6 SPF No.2 (5) 9'- 8 5/8" 0'

I Critical Stud 2x6 SPF No.2 (3) 9'- 8 5/8" 0'

J Sheathing 7/16" 4x10 OSB (1) 10' 4'

K Sheathing 7/16" 4x10 OSB (1) 10' 2'- 5 3/8"

Job: Elevation Report
Page: 28 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 27

27



Stud Spacing BF Weight

1'- 4" 59.00 lb

Extend: 0'- 5 1/2" Extend: 0'- 5/8"

A

B

C D

27

1'- 10 1/8"

SHEATHING

1'- 4"

O/A FRAMING

1'- 4"

ROOMSquare: 10'- 11/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" 0'- 5 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 1'- 4" 0'

B Top Plate 2x6 SPF No.2 (1) 1'- 4" 0'

C Stud 2x6 SPF No.2 (3) 9'- 8 5/8" 0'

D Sheathing 7/16" 4x10 OSB (1) 10' 1'- 10 1/8"

Job: Elevation Report
Page: 29 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 28

28



Stud Spacing BF Weight

1'- 4" 423.00 lb

2860-4
Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

JK L M
N

11'- 8"

3'- 7 1/4"3'- 11 1/4" 4'

SHEATHING

12'

O/A FRAMING

10'- 8"

12'

ROOMSquare: 15'- 7 3/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 12' 0'

B Top Plate 2x6 SPF No.2 (1) 12' 0'

C King Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (6) 7'- 10 1/2" 0'

E Header 1-3/4" x 11-7/8" VERSA-LAM® 
2.0 3100 SP

(2) 11'- 5" 0'

F Header Sill 2x6 SPF No.2 (1) 11'- 5" 0'

G Window Sill 2x6 SPF No.2 (1) 10'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (10) 1'- 9" 0'

I Header Cripple 2x6 SPF No.2 (10) 0'- 8 3/4" 0'

J Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

K Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

L Sheathing 7/16" 4x10 OSB (1) 10' 4'

M Sheathing 7/16" 4x10 OSB (1) 10' 3'- 7 1/4"

N Sheathing 7/16" 4x10 OSB (1) 10' 0'- 5 3/8"

Job: Elevation Report
Page: 30 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 29

29



Stud Spacing BF Weight

1'- 4" 79.00 lb

Holdback: 0'- 3/4" Holdback: 0'- 6 1/8"

A

B

C DE

31

55

1'- 1"
SHEATHING

1'- 8"

O/A FRAMING

ROOMSquare: 10'- 1 5/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" -0'- 6 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 1'- 8" 0'

B Top Plate 2x6 SPF No.2 (1) 1'- 8" 0'

C Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

D Flat Stud 2x6 SPF No.2 (2) 9'- 8 5/8" 0'

E Sheathing 7/16" 4x10 OSB (1) 10' 1'- 1 1/8"

Job: Elevation Report
Page: 31 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 30

30



Stud Spacing BF Weight

1'- 4" 8 197.00 lb

Holdback: 0'- 1/8" Extend: 0'- 5/8"

A

B

C

D

E

F G

H
I J

30

1'- 4 1/2"2'- 8"4'

SHEATHING

8'

O/A FRAMING

8'

ROOMSquare: 13'- 8 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 1/8" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C Stud 2x6 SPF No.2 (7) 10'- 10 3/4" 0'

D Sheathing 7/16" 4x10 OSB (1) 10' 4'

E Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 8'- 1/2"

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

G Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 1/2"

H Block 2x6 SPF No.2 (1) 1'- 1 7/8" 0'

I Block 2x6 SPF No.2 (4) 1'- 2 1/2" 0'

J Block 2x6 SPF No.2 (1) 1'- 1 5/8" 0'

Job: Elevation Report
Page: 32 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 31

31



Stud Spacing BF Weight

1'- 4" 8 197.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F G

H
I

1'- 4 5/8"2'- 8"3'- 11 1/4"

SHEATHING

8'

O/A FRAMING

8'

ROOMSquare: 13'- 8 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C Stud 2x6 SPF No.2 (7) 10'- 10 3/4" 0'

D Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

E Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 7'- 11 7/8"

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

G Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 5/8"

H Block 2x6 SPF No.2 (2) 1'- 1 3/4" 0'

I Block 2x6 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 33 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 32

32



Stud Spacing BF Weight

1'- 4" 8 197.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F G

H
I

1'- 4 5/8"2'- 8"3'- 11 1/4"

SHEATHING

8'

O/A FRAMING

8'

ROOMSquare: 13'- 8 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C Stud 2x6 SPF No.2 (7) 10'- 10 3/4" 0'

D Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

E Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 7'- 11 7/8"

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

G Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 5/8"

H Block 2x6 SPF No.2 (2) 1'- 1 3/4" 0'

I Block 2x6 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 34 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 33

33



Stud Spacing BF Weight

1'- 4" 8 196.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5 1/2"

A

B

C

D

E

F G

H
I J

35

1'- 8"2'- 8"3'- 11 1/4"

SHEATHING

7'- 10 1/2"

O/A FRAMING

7'- 10 1/2"

ROOMSquare: 13'- 7 3/4"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 7'- 10 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 7'- 10 1/2" 0'

C Stud 2x6 SPF No.2 (7) 10'- 10 3/4" 0'

D Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

E Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 8'- 3 1/4"

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

G Sheathing 7/16" 4x10 OSB (1) 10' 1'- 8"

H Block 2x6 SPF No.2 (1) 1'- 1 3/4" 0'

I Block 2x6 SPF No.2 (4) 1'- 2 1/2" 0'

J Block 2x6 SPF No.2 (1) 1'- 1/4" 0'

Job: Elevation Report
Page: 35 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 34

34



Stud Spacing BF Weight

1'- 4" 17 271.00 lb

3/0
Flush Extend: 0'- 5/8"

A

B

C

D

E

F

G

H I

J

K

L M

N
O P

Q
R

34

1'- 1" 4'- 10"

1'- 4 5/8"2'- 8"4'

SHEATHING

8'

O/A FRAMING

3'- 3"

7'- 6 1/2"

ROOMSquare: 13'- 8 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" - 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C King Stud 2x6 SPF No.2 (2) 10'- 10 3/4" 0'

D Jack Stud 2x6 SPF No.2 (2) 8'- 1 1/2" 0'

E Header 2x8 SP No.1 (2) 3'- 6" 0'

F Header Sill 2x6 SPF No.2 (1) 3'- 6" 0'

G Header Cripple 2x6 SPF No.2 (5) 2'- 1/2" 0'

H Stud 2x6 SPF No.2 (4) 10'- 10 3/4" 0'

I Flat Stud 2x6 SPF No.2 (1) 10'- 10 3/4" 0'

J Sheathing 7/16" 4x10 OSB (1) 10' 4'

K Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 8'- 5/8"

L Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

M Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 5/8"

N Block 2x6 SPF No.2 (1) 0'- 11 1/2" 0'

O Block 2x6 SPF No.2 (2) 1'- 1 3/4" 0'

P Block 2x6 SPF No.2 (2) 1'- 2 1/2" 0'

Q Block 2x6 SPF No.2 (1) 0'- 6 1/4" 0'

R Block 2x6 SPF No.2 (1) 0'- 5 1/4" 0'

Job: Elevation Report
Page: 36 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 35

35



Stud Spacing BF Weight

1'- 4" 8 197.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F G

H
I

1'- 4 5/8"2'- 8"3'- 11 1/4"

SHEATHING

8'

O/A FRAMING

8'

ROOMSquare: 13'- 8 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C Stud 2x6 SPF No.2 (7) 10'- 10 3/4" 0'

D Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

E Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 7'- 11 7/8"

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

G Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 5/8"

H Block 2x6 SPF No.2 (2) 1'- 1 3/4" 0'

I Block 2x6 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 37 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 36

36



Stud Spacing BF Weight

1'- 4" 8 197.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F G

H
I

1'- 4 5/8"2'- 8"3'- 11 1/4"

SHEATHING

8'

O/A FRAMING

8'

ROOMSquare: 13'- 8 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C Stud 2x6 SPF No.2 (7) 10'- 10 3/4" 0'

D Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

E Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 7'- 11 7/8"

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

G Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 5/8"

H Block 2x6 SPF No.2 (2) 1'- 1 3/4" 0'

I Block 2x6 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 38 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 37

37



Stud Spacing BF Weight

1'- 4" 5 138.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F

G
H

1'- 4 5/8"3'- 11 1/4"

SHEATHING

5'- 4"

O/A FRAMING

5'- 4"

ROOMSquare: 12'- 4 1/4"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 5'- 4" 0'

B Top Plate 2x6 SPF No.2 (1) 5'- 4" 0'

C Stud 2x6 SPF No.2 (5) 10'- 10 3/4" 0'

D Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

E Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 5'- 3 7/8"

F Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 5/8"

G Block 2x6 SPF No.2 (2) 1'- 1 3/4" 0'

H Block 2x6 SPF No.2 (2) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 39 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 38

38



Stud Spacing BF Weight

1'- 4" 6 159.00 lb

Holdback: 0'- 3/4" Flush

A

B

C D

E

F

G

H
I J

40

5'

1'- 7"3'- 11 1/4"

SHEATHING

5'- 7"

O/A FRAMING

5'- 1 1/2"

ROOMSquare: 12'- 5 9/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" -

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 5'- 7" 0'

B Top Plate 2x6 SPF No.2 (1) 5'- 7" 0'

C Stud 2x6 SPF No.2 (5) 10'- 10 3/4" 0'

D Flat Stud 2x6 SPF No.2 (1) 10'- 10 3/4" 0'

E Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

F Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 5'- 6 1/4"

G Sheathing 7/16" 4x10 OSB (1) 10' 1'- 7"

H Block 2x6 SPF No.2 (1) 1'- 1 3/4" 0'

I Block 2x6 SPF No.2 (2) 1'- 2 1/2" 0'

J Block 2x6 SPF No.2 (1) 1'- 4 3/4" 0'

Job: Elevation Report
Page: 40 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 39

39



Stud Spacing BF Weight

1'- 4" 2 116.00 lb

Extend: 0'- 5 1/2" Flush

A

B

C

D

E

F

GH
I J

39

1'- 11"

2'- 10 1/2"

SHEATHING

2'- 5"

O/A FRAMING

2'- 5"

ROOMSquare: 11'- 4 7/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" 0'- 5 -

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 2'- 5" 0'

B Top Plate 2x6 SPF No.2 (1) 2'- 5" 0'

C King Stud 2x6 SPF No.2 (1) 10'- 10 3/4" 0'

D Jack Stud 2x6 SPF No.2 (3) 7'- 4" 0'

E Stud 2x6 SPF No.2 (2) 10'- 10 3/4" 0'

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 10 1/2"

G Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 2'- 10 1/2"

H Block 2x6 SPF No.2 (1) 0'- 8 1/4" 0'

I Block 2x6 SPF No.2 (1) 0'- 11 3/4" 0'

J Block 2x6 SPF No.2 (1) 0'- 4 1/2" 0'

Job: Elevation Report
Page: 41 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 40

40



Stud Spacing BF Weight

1'- 4" 102.00 lb

A

B

C

9'- 11"

O/A FRAMING

9'- 11"

ROOMSquare: 10'- 3 5/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 9'- 11" 0'

B Top Plate 2x6 SPF No.2 (1) 9'- 11" 0'

C Stud 2x6 SPF No.2 (11) 2'- 5 3/8" 0'

Job: Elevation Report
Page: 42 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 41

41



Stud Spacing BF Weight

1'- 4" 3 159.00 lb

Flush Flush

A

B

C

D

E

F

GH I J

2'- 4"

2'- 10"

SHEATHING

2'- 10"

O/A FRAMING

2'- 10"

ROOMSquare: 11'- 6"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" - -

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 2'- 10" 0'

B Top Plate 2x6 SPF No.2 (1) 2'- 10" 0'

C King Stud 2x6 SPF No.2 (2) 10'- 10 3/4" 0'

D Jack Stud 2x6 SPF No.2 (6) 7'- 4" 0'

E Stud 2x6 SPF No.2 (1) 10'- 10 3/4" 0'

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 10"

G Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 2'- 10"

H Block 2x6 SPF No.2 (2) 0'- 4 1/2" 0'

I Block 2x6 SPF No.2 (1) 0'- 9 1/4" 0'

J Block 2x6 SPF No.2 (1) 0'- 11 1/4" 0'

Job: Elevation Report
Page: 43 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 42

42



Stud Spacing BF Weight

1'- 4" 119.00 lb

A

B

C D

0'- 8 1/2"

8'- 11 1/2"

9'- 11"

O/A FRAMING

9'- 11"

ROOMSquare: 10'- 3 5/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 9'- 11" 0'

B Top Plate 2x6 SPF No.2 (1) 9'- 11" 0'

C Stud 2x6 SPF No.2 (11) 2'- 5 3/8" 0'

D Critical Stud 2x6 SPF No.2 (4) 2'- 5 3/8" 0'

Job: Elevation Report
Page: 44 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 43

43



Stud Spacing BF Weight

1'- 4" 3 159.00 lb

Flush Flush

A

B

C

D

E

F

GH I
J

2'- 4"

2'- 10"

SHEATHING

2'- 10"

O/A FRAMING

2'- 10"

ROOMSquare: 11'- 6"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" - -

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 2'- 10" 0'

B Top Plate 2x6 SPF No.2 (1) 2'- 10" 0'

C King Stud 2x6 SPF No.2 (2) 10'- 10 3/4" 0'

D Jack Stud 2x6 SPF No.2 (6) 7'- 4" 0'

E Stud 2x6 SPF No.2 (1) 10'- 10 3/4" 0'

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 10"

G Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 2'- 10"

H Block 2x6 SPF No.2 (2) 0'- 4 1/2" 0'

I Block 2x6 SPF No.2 (1) 0'- 9 1/4" 0'

J Block 2x6 SPF No.2 (1) 0'- 11 1/4" 0'

Job: Elevation Report
Page: 45 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 44

44



Stud Spacing BF Weight

1'- 4" 102.00 lb

A

B

C

9'- 11"

O/A FRAMING

9'- 11"

ROOMSquare: 10'- 3 5/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 9'- 11" 0'

B Top Plate 2x6 SPF No.2 (1) 9'- 11" 0'

C Stud 2x6 SPF No.2 (11) 2'- 5 3/8" 0'

Job: Elevation Report
Page: 46 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 45

45



Stud Spacing BF Weight

1'- 4" 16 259.00 lb

3/0
Flush Extend: 0'- 5 1/2"

A

B

C

D
E

F

G

H

I

J

K

L

M N
O P Q

R

47

2'- 1/2" 5'- 9 1/2"

2'- 10 1/2"4'

SHEATHING

6'- 5"

O/A FRAMING

3'- 3"

6'- 5"

ROOMSquare: 12'- 10 5/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" - 0'- 5 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 6'- 5" 0'

B Top Plate 2x6 SPF No.2 (1) 6'- 5" 0'

C King Stud 2x6 SPF No.2 (3) 10'- 10 3/4" 0'

D Jack Stud 2x6 SPF No.2 (3) 7'- 4" 0'

E Jack Stud 2x6 SPF No.2 (2) 8'- 1 1/2" 0'

F Header 2x8 SP No.1 (2) 3'- 6" 0'

G Header Sill 2x6 SPF No.2 (1) 3'- 6" 0'

H Header Cripple 2x6 SPF No.2 (5) 2'- 1/2" 0'

I Stud 2x6 SPF No.2 (2) 10'- 10 3/4" 0'

J Sheathing 7/16" 4x10 OSB (1) 10' 4'

K Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 6'- 10 1/2"

L Sheathing 7/16" 4x10 OSB (1) 10' 2'- 10 1/2"

M Block 2x6 SPF No.2 (1) 0'- 4 1/2" 0'

N Block 2x6 SPF No.2 (1) 0'- 9 1/4" 0'

O Block 2x6 SPF No.2 (1) 0'- 7 3/4" 0'

P Block 2x6 SPF No.2 (1) 0'- 3 3/4" 0'

Q Block 2x6 SPF No.2 (2) 1'- 2 1/2" 0'

R Block 2x6 SPF No.2 (1) 0'- 6" 0'

Job: Elevation Report
Page: 47 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 46

46



Stud Spacing BF Weight

1'- 4" 4 128.00 lb

Flush Extend: 0'- 5/8"

A

B

C D

E

F

G

H
I

46

1'- 4 5/8"2'- 8"

SHEATHING

4'

O/A FRAMING

3'- 6 1/2"

ROOMSquare: 11'- 10 1/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" - 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 4' 0'

B Top Plate 2x6 SPF No.2 (1) 4' 0'

C Stud 2x6 SPF No.2 (4) 10'- 10 3/4" 0'

D Flat Stud 2x6 SPF No.2 (1) 10'- 10 3/4" 0'

E Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

F Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 4'- 5/8"

G Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 5/8"

H Block 2x6 SPF No.2 (2) 1'- 1 3/4" 0'

I Block 2x6 SPF No.2 (1) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 48 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 47

47



Stud Spacing BF Weight

1'- 4" 6 160.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F

G
H

1'- 9 7/8"3'- 11 1/4"

SHEATHING

5'- 9 1/4"

O/A FRAMING

5'- 9 1/4"

ROOMSquare: 12'- 6 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SP No.2 P (1) 5'- 9 1/4" 0'

B Top Plate 2x6 SPF No.2 (1) 5'- 9 1/4" 0'

C Stud 2x6 SPF No.2 (6) 10'- 10 3/4" 0'

D Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

E Sheathing 7/16" 4x10 OSB (1) 1'- 2 1/8" 5'- 9 1/8"

F Sheathing 7/16" 4x10 OSB (1) 10' 1'- 9 7/8"

G Block 2x6 SPF No.2 (1) 1'- 1 3/4" 0'

H Block 2x6 SPF No.2 (3) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 49 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 48

48



Stud Spacing BF Weight

1'- 4" 176.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C D E F G

51

1'- 4 5/8"2'- 8"3'- 11 1/4"

SHEATHING

8'

O/A FRAMING

7'- 8 1/2"

ROOMSquare: 12'- 9 3/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C Stud 2x6 SPF No.2 (7) 9'- 8 5/8" 0'

D Flat Stud 2x4 SPF No.2 (1) 9'- 8 5/8" 0'

E Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8"

G Sheathing 7/16" 4x10 OSB (1) 10' 1'- 4 5/8"

Job: Elevation Report
Page: 50 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 49

49



Stud Spacing BF Weight

1'- 4" 178.00 lb

Holdback: 0'- 3/4" Holdback: 0'- 6 1/8"

A

B

C DE F

1

6'- 7 3/4"

2'- 8 5/8"3'- 11 1/4"

SHEATHING

7'- 2 3/4"

O/A FRAMING

6'- 9 1/4"

ROOMSquare: 12'- 3 3/4"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x10 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" -0'- 6 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 7'- 2 3/4" 0'

B Top Plate 2x6 SPF No.2 (1) 7'- 2 3/4" 0'

C Stud 2x6 SPF No.2 (7) 9'- 8 5/8" 0'

D Flat Stud 2x6 SPF No.2 (1) 9'- 8 5/8" 0'

E Sheathing 7/16" 4x10 OSB (1) 10' 3'- 11 1/4"

F Sheathing 7/16" 4x10 OSB (1) 10' 2'- 8 5/8"

Job: Elevation Report
Page: 51 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 50

50



Stud Spacing BF Weight

1'- 4" 81.00 lb

A

B

C D

52 49

4'- 1 3/4"

O/A FRAMING

3'- 10 1/4"

ROOMSquare: 10'- 9 9/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 4'- 1 3/4" 0'

B Top Plate 2x4 SPF No.2 (1) 4'- 1 3/4" 0'

C Stud 2x4 SPF Stud (5) 9'- 8 5/8" 0'

D Flat Stud 2x4 SPF Stud (1) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 52 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 51

51



Stud Spacing BF Weight

1'- 4" 118.00 lb

A

B

C

51

8'- 6 3/4"

O/A FRAMING

8'- 6 3/4"

ROOMSquare: 13'- 1 11/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 8'- 6 3/4" 0'

B Top Plate 2x4 SPF No.2 (1) 8'- 6 3/4" 0'

C Stud 2x4 SPF Stud (8) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 53 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 52

52



Stud Spacing BF Weight

1'- 4" 105.00 lb

A

B

C

8'

O/A FRAMING

8'

ROOMSquare: 12'- 9 3/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 8' 0'

B Top Plate 2x4 SPF No.2 (1) 8' 0'

C Stud 2x4 SPF Stud (7) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 54 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 53

53



Stud Spacing BF Weight

1'- 4" 16 142.00 lb

3/0

A

B

C

D

E

F

G

H

I

56

1'- 7 1/2" 5'- 4 1/2"

8'

O/A FRAMING

3'- 3"

8'

ROOMSquare: 12'- 9 3/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 8' 0'

B Top Plate 2x4 SPF No.2 (1) 8' 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 1 1/2" 0'

E Header 2x8 SP No.1 (2) 3'- 6" 0'

F Filler 7/16" 4x8 OSB (1) 3'- 6" 0'

G Header Sill 2x4 SPF No.2 (1) 3'- 6" 0'

H Header Cripple 2x4 SPF No.2 (4) 0'- 10 3/8" 0'

I Stud 2x4 SPF Stud (4) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 55 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 54

54



Stud Spacing BF Weight

1'- 4" 74.00 lb

A

B

C

5'- 4 3/4"

O/A FRAMING

5'- 4 3/4"

ROOMSquare: 11'- 4"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 5'- 4 3/4" 0'

B Top Plate 2x4 SPF No.2 (1) 5'- 4 3/4" 0'

C Stud 2x4 SPF Stud (5) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 56 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 55

55



Stud Spacing BF Weight

1'- 4" 25 137.00 lb

3080 RO

A

B

C

D

E

F

G

H

I J K

0'- 7 7/8"

4'- 2 7/8"

4'- 4 1/4"

4'- 9 1/4"

O/A FRAMING

3'- 1"

4'- 3/4"

ROOMSquare: 11'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 4'- 9 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 4'- 9 1/4" 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 1 1/2" 0'

E Header 2x8 SP No.1 (2) 3'- 4" 0'

F Filler 7/16" 4x8 OSB (1) 3'- 4" 0'

G Header Sill 2x4 SPF No.2 (1) 3'- 4" 0'

H Header Cripple 2x4 SPF No.2 (5) 0'- 10 3/8" 0'

I Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

J Flat Stud 2x6 SPF Stud (1) 9'- 8 5/8" 0'

K Flat Stud 2x4 SPF Stud (1) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 57 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 56

56



Stud Spacing BF Weight

1'- 4" 48.00 lb

A

B

C D

58

56

2'- 5 1/2"

O/A FRAMING

2'- 2"

ROOMSquare: 9'- 3 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 2'- 5 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 2'- 5 1/2" 0'

C Stud 2x4 SPF Stud (3) 8'- 8 5/8" 0'

D Flat Stud 2x4 SPF Stud (1) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 58 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 57

57



Stud Spacing BF Weight

1'- 4" 80.00 lb

A

B

C

57

5'- 10 1/4"

O/A FRAMING

5'- 10 1/4"

ROOMSquare: 10'- 8 1/2"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 5'- 10 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 5'- 10 1/4" 0'

C Stud 2x4 SPF Stud (6) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 59 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 58

58



Stud Spacing BF Weight

1'- 4" 116.00 lb

A

B

C

D

60

61

6'- 7 1/4"

9'

O/A FRAMING

1'- 2"7'- 6 1/2"

ROOMSquare: 12'- 8 1/2"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 9' 0'

B Top Plate 2x4 SPF No.2 (1) 9' 0'

C Stud 2x4 SPF Stud (8) 8'- 8 5/8" 0'

D Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 60 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 59

59



Stud Spacing BF Weight

1'- 4" 6 114.00 lb

2680

A

B

C

D

E F
G

H

3'- 10 1/2" 7'- 1/2"

7'- 2"

O/A FRAMING

2'- 8"

7'- 2"

ROOMSquare: 11'- 5 3/4"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 7'- 2" 0'

B Top Plate 2x4 SPF No.2 (1) 7'- 2" 0'

C King Stud 2x4 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 1 1/2" 0'

E Header 2x6 SPF No.2 (2) 2'- 11" 0'

F Filler 7/16" 4x8 OSB (1) 2'- 11" 0'

G Header Cripple 2x4 SPF No.2 (4) 0'- 1 5/8" 0'

H Stud 2x4 SPF Stud (4) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 61 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 60

60



Stud Spacing BF Weight

1'- 4" 128.00 lb

A

B

C

D

2

59

6'- 7 1/4"

9'- 7 1/2"

O/A FRAMING

2'- 2"7'- 2"

ROOMSquare: 13'- 1 7/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 9'- 7 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 9'- 7 1/2" 0'

C Stud 2x4 SPF Stud (9) 8'- 8 5/8" 0'

D Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 62 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 61

61



Stud Spacing BF Weight

1'- 4" 30 173.00 lb

3090 RO

A

B

C

D

EF

G
H

I

J K

L

M

65 64

2'- 5 3/4" 6'- 3/4"

6'- 5 3/4"

6'- 10 1/4"

O/A FRAMING

3'- 1"

6'- 1/4"

ROOMSquare: 12'- 1 3/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 6'- 10 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 6'- 10 1/4" 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 10 5/8" 0'

E Header 2x8 SP No.1 (2) 3'- 4" 0'

F Filler 7/16" 4x8 OSB (1) 3'- 4" 0'

G Pad 1x4 SPF Stud (1) 3'- 4" 0'

H Pad 7/16" 4x8 OSB (1) 3'- 4" 0'

I Header Sill 2x4 SPF No.2 (1) 3'- 4" 0'

J Stud 2x4 SPF Stud (3) 9'- 8 5/8" 0'

K Flat Stud 2x4 SPF Stud (1) 9'- 8 5/8" 0'

L Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

M Critical Stud 2x4 SPF Stud (3) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 63 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 62

62



Stud Spacing BF Weight

1'- 4" 105.00 lb

A

B

C

68

7'- 11 3/4"

O/A FRAMING

7'- 11 3/4"

ROOMSquare: 12'- 9 1/4"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 7'- 11 3/4" 0'

B Top Plate 2x4 SPF No.2 (1) 7'- 11 3/4" 0'

C Stud 2x4 SPF Stud (7) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 64 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 63

63



Stud Spacing BF Weight

1'- 4" 16 120.00 lb

2680

A

B

C

D

E

F

G

H

I

0'- 1 1/2"

3'- 3 1/2"

4'- 10 1/4"

O/A FRAMING

2'- 8"

4'- 10 1/4"

ROOMSquare: 11'- 1 1/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 4'- 10 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 4'- 10 1/4" 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 3" 0'

E Header 2x10 SYP No.1 (2) 2'- 11" 0'

F Filler 7/16" 4x8 OSB (1) 2'- 11" 0'

G Header Sill 2x4 SPF No.2 (1) 2'- 8" 0'

H Header Cripple 2x4 SPF No.2 (4) 0'- 8 3/8" 0'

I Stud 2x4 SPF Stud (3) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 65 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 64

64



Stud Spacing BF Weight

1'- 4" 73.00 lb

A

B

C

5'- 3/4"

O/A FRAMING

5'- 3/4"

ROOMSquare: 11'- 2 3/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 5'- 3/4" 0'

B Top Plate 2x4 SPF No.2 (1) 5'- 3/4" 0'

C Stud 2x4 SPF Stud (5) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 66 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 65

65



Stud Spacing BF Weight

1'- 4" 23 170.00 lb

3090 RO

A

B

C

D

EF

G
H

I

J

K

65

4

0'- 1 1/2"

3'- 9 1/2" 7'- 4 1/2"

7'- 7 1/2"

O/A FRAMING

3'- 1"

1'- 3 3/4" 6'- 1/4"

ROOMSquare: 12'- 6 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 7'- 7 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 7'- 7 1/2" 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 10 5/8" 0'

E Header 2x8 SP No.1 (2) 3'- 4" 0'

F Filler 7/16" 4x8 OSB (1) 3'- 4" 0'

G Pad 1x4 SPF Stud (1) 3'- 4" 0'

H Pad 7/16" 4x8 OSB (1) 3'- 4" 0'

I Header Sill 2x4 SPF No.2 (1) 3'- 4" 0'

J Stud 2x4 SPF Stud (6) 9'- 8 5/8" 0'

K Rung 2x4 SPF No.2 (8) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 67 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 66

66



Stud Spacing BF Weight

1'- 4" 89.00 lb

A

B

C

68

6'- 8"

O/A FRAMING

6'- 8"

ROOMSquare: 11'- 11 15/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 6'- 8" 0'

B Top Plate 2x4 SPF No.2 (1) 6'- 8" 0'

C Stud 2x4 SPF Stud (6) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 68 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 67

67



Stud Spacing BF Weight

1'- 4" 10 226.00 lb

A

B

C

D

E F

G

H

2'- 2 1/8"

2'- 6 5/8"

6'- 7 1/4" 8'- 7 3/8"

8'- 11 7/8"

O/A FRAMING

2'- 2 5/8" 5'- 3/4"

ROOMSquare: 13'- 5 1/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 8'- 11 7/8" 0'

B Top Plate 2x4 SPF No.2 (1) 8'- 11 7/8" 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (5) 8'- 10 5/8" 0'

E Stud 2x4 SPF Stud (6) 9'- 8 5/8" 0'

F Flat Stud 2x6 SPF Stud (1) 9'- 8 5/8" 0'

G Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

H Critical Stud 2x4 SPF Stud (3) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 69 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 68

68



Stud Spacing BF Weight

1'- 4" 46.00 lb

A

B

C

D

E

O/A FRAMING

ROOMSquare: 10'- 3/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 1'- 1 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 1'- 1 1/2" 0'

C King Stud 2x4 SPF Stud (1) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 10 5/8" 0'

E Stud 2x4 SPF Stud (1) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 70 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 69

69



Stud Spacing BF Weight

1'- 4" 14 100.00 lb

2680

A

B

C

D

EF

G

H

I

71

8

0'- 3 5/8"

3'- 5 5/8"

3'- 5 3/4"

O/A FRAMING

2'- 8"

3'- 2 1/4"

ROOMSquare: 10'- 6 11/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 3'- 5 3/4" 0'

B Top Plate 2x4 SPF No.2 (1) 3'- 5 3/4" 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 3" 0'

E Header 2x8 SP No.1 (2) 2'- 11" 0'

F Filler 7/16" 4x8 OSB (1) 2'- 11" 0'

G Header Sill 2x4 SPF No.2 (1) 2'- 8" 0'

H Header Cripple 2x4 SPF No.2 (4) 0'- 10 3/8" 0'

I Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 71 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 70

70



Stud Spacing BF Weight

1'- 4" 56.00 lb

A

B

C

70

72

3'- 6 1/2"

O/A FRAMING

3'- 6 1/2"

ROOMSquare: 10'- 6 15/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 3'- 6 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 3'- 6 1/2" 0'

C Stud 2x4 SPF Stud (4) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 72 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 71

71



Stud Spacing BF Weight

1'- 4" 110.00 lb

A

B

C

D

2'- 7 1/4"

8'

O/A FRAMING

3'- 2 1/4" 4'- 6 1/4"

ROOMSquare: 12'- 9 3/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 8' 0'

B Top Plate 2x4 SPF No.2 (1) 8' 0'

C Stud 2x4 SPF Stud (7) 9'- 8 5/8" 0'

D Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 73 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 72

72



Stud Spacing BF Weight

1'- 4" 74.00 lb

A

B

C

5'- 4"

O/A FRAMING

5'- 4"

ROOMSquare: 11'- 3 11/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 5'- 4" 0'

B Top Plate 2x4 SPF No.2 (1) 5'- 4" 0'

C Stud 2x4 SPF Stud (5) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 74 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 73

73



Stud Spacing BF Weight

1'- 4" 70.00 lb

A

B

C

4'- 4 1/4"

O/A FRAMING

4'- 4 1/4"

ROOMSquare: 10'- 10 9/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 4'- 4 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 4'- 4 1/4" 0'

C Stud 2x4 SPF Stud (5) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 75 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 74

74



Stud Spacing BF Weight

1'- 4" 14 161.00 lb

2680

A

B

C

D

EF

G

H

I

77

0'- 1 1/2"

3'- 3 1/2"

8'- 4 1/4"

O/A FRAMING

2'- 8"

8'- 4 1/4"

ROOMSquare: 13'- 1/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 8'- 4 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 8'- 4 1/4" 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 1 1/2" 0'

E Header 2x8 SP No.1 (2) 2'- 11" 0'

F Filler 7/16" 4x8 OSB (1) 2'- 11" 0'

G Header Sill 2x4 SPF No.2 (1) 2'- 11" 0'

H Header Cripple 2x4 SPF No.2 (4) 0'- 10 3/8" 0'

I Stud 2x4 SPF Stud (6) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 76 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 75

75



Stud Spacing BF Weight

1'- 4" 67.00 lb

A

B

C D

77

79

3'- 4"

O/A FRAMING

3'- 1/2"

ROOMSquare: 10'- 6 1/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 3'- 4" 0'

B Top Plate 2x4 SPF No.2 (1) 3'- 4" 0'

C Stud 2x4 SPF Stud (4) 9'- 8 5/8" 0'

D Flat Stud 2x4 SPF Stud (1) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 77 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 76

76



Stud Spacing BF Weight

1'- 4" 6 127.00 lb

2680

A

B

C

D

E FG

H

I

0'- 11 3/4"

2'- 9 1/4" 5'- 11 1/4"

6'- 3/4"

O/A FRAMING

2'- 8"

1'- 8 1/2" 4'- 3/4"

ROOMSquare: 11'- 8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 6'- 3/4" 0'

B Top Plate 2x4 SPF No.2 (1) 6'- 3/4" 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 1 1/2" 0'

E Header 2x6 SPF No.2 (2) 2'- 11" 0'

F Filler 7/16" 4x8 OSB (1) 2'- 11" 0'

G Header Cripple 2x4 SPF No.2 (4) 1'- 1 5/8" 0'

H Stud 2x4 SPF Stud (4) 9'- 8 5/8" 0'

I Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 78 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 77

77



Stud Spacing BF Weight

1'- 4" 67.00 lb

A

B

C D

2'- 11"

3'- 4"

O/A FRAMING

3'- 1/2"

ROOMSquare: 10'- 6 1/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 3'- 4" 0'

B Top Plate 2x4 SPF No.2 (1) 3'- 4" 0'

C Stud 2x4 SPF Stud (4) 9'- 8 5/8" 0'

D Flat Stud 2x4 SPF Stud (1) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 79 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 78

78



Stud Spacing BF Weight

1'- 4" 18 444.00 lb

3/0

A

B

C

D

E

F

G

H

I

J

K

76

8082

78

16

74

7'- 8" 11'- 4" 14'- 4 1/4" 17'- 3 1/4" 26'- 7 1/4"

26'- 11 3/4"

O/A FRAMING

3'- 2"

1'- 8 1/2"4'- 3/4" 8'- 8 1/4"11'- 4 1/4"

ROOMSquare: 28'- 9 1/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 26'- 11 3/4" 0'

B Top Plate 2x4 SPF No.2 (1) 26'- 11 3/4" 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 3" 0'

E Header 2x10 SYP No.1 (2) 3'- 5" 0'

F Filler 7/16" 4x8 OSB (1) 3'- 5" 0'

G Header Sill 2x4 SPF No.2 (1) 3'- 2" 0'

H Header Cripple 2x4 SPF No.2 (5) 0'- 8 3/8" 0'

I Stud 2x4 SPF Stud (20) 9'- 8 5/8" 0'

J Rung 2x4 SPF No.2 (16) 1'- 2 1/2" 0'

K Critical Stud 2x4 SPF Stud (3) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 80 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 79

79



Stud Spacing BF Weight

1'- 4" 23 115.00 lb

3090 RO

A

B

C

D

E F

GH

I

J

K

0'- 7 1/4"

4'- 2 1/4"

4'- 6"

O/A FRAMING

3'- 1"

4'- 2 1/2"

ROOMSquare: 10'- 11 1/4"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 4'- 6" 0'

B Top Plate 2x4 SPF No.2 (1) 4'- 6" 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 10 5/8" 0'

E Header 2x8 SP No.1 (2) 3'- 4" 0'

F Filler 7/16" 4x8 OSB (1) 3'- 4" 0'

G Pad 1x4 SPF Stud (1) 3'- 4" 0'

H Pad 7/16" 4x8 OSB (1) 3'- 4" 0'

I Header Sill 2x4 SPF No.2 (1) 3'- 4" 0'

J Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

K Flat Stud 2x4 SPF Stud (1) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 81 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 80

80



Stud Spacing BF Weight

1'- 4" 39.00 lb

A

B

C

1'- 8 1/2"

O/A FRAMING

1'- 8 1/2"

ROOMSquare: 10'- 1 3/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 1'- 8 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 1'- 8 1/2" 0'

C Stud 2x4 SPF Stud (3) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 82 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 81

81



Stud Spacing BF Weight

1'- 4" 26 172.00 lb

3/0

A

B

C

D

E

F

G

H

I J

3'- 10 3/4"4'- 7" 8'- 3"

8'- 6 1/4"

O/A FRAMING

3'- 2"

4'- 1/4" 4'- 2 1/2"

ROOMSquare: 13'- 1 3/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 8'- 6 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 8'- 6 1/4" 0'

C King Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 8'- 1 1/2" 0'

E Header 2x8 SP No.1 (2) 3'- 5" 0'

F Filler 7/16" 4x8 OSB (1) 3'- 5" 0'

G Header Sill 2x4 SPF No.2 (1) 3'- 5" 0'

H Header Cripple 2x4 SPF No.2 (5) 0'- 10 3/8" 0'

I Stud 2x4 SPF Stud (5) 9'- 8 5/8" 0'

J Flat Stud 2x6 SPF Stud (1) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 83 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 82

82



Stud Spacing BF Weight

1'- 4" 105.00 lb

A

B

C

8'

O/A FRAMING

8'

ROOMSquare: 12'- 9 3/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 8' 0'

B Top Plate 2x4 SPF No.2 (1) 8' 0'

C Stud 2x4 SPF Stud (7) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 84 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 83

83



Stud Spacing BF Weight

1'- 4" 71.00 lb

A

B

C

D

E

1'- 8 5/8"

2'- 2 5/8"

O/A FRAMING

2'- 2 5/8"

ROOMSquare: 10'- 2 9/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 2'- 2 5/8" 0'

B Top Plate 2x4 SPF No.2 (1) 2'- 2 5/8" 0'

C King Stud 2x4 SPF Stud (1) 9'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (3) 8'- 10 5/8" 0'

E Stud 2x4 SPF Stud (2) 9'- 8 5/8" 0'

Job: Elevation Report
Page: 85 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 84

84



Stud Spacing BF Weight

1'- 4" 41 203.00 lb

2830
Holdback: 0'- 3/4" Flush

A

B

C

D

E

F

G

H

I

J KL M

102

1'- 1 1/2"

4'- 3 1/2" 6'- 6"

3'- 1/4"4'

SHEATHING

7'- 1"

O/A FRAMING

2'- 8"

6'- 7 1/2"

ROOMSquare: 11'- 15/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" -

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 7'- 1" 0'

B Top Plate 2x6 SPF No.2 (1) 7'- 1" 0'

C King Stud 2x6 SPF No.2 (2) 8'- 3 1/4" 0'

D Jack Stud 2x6 SPF No.2 (2) 6'- 1 1/4" 0'

E Header 2x8 SP No.1 (2) 2'- 11" 0'

F Header Sill 2x6 SPF No.2 (1) 2'- 11" 0'

G Window Sill 2x6 SPF No.2 (1) 2'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (3) 2'- 11 3/4" 0'

I Header Cripple 2x6 SPF No.2 (4) 1'- 5 1/4" 0'

J Stud 2x6 SPF Stud (3) 8'- 3 1/4" 0'

K Flat Stud 2x6 SPF Stud (1) 8'- 3 1/4" 0'

L Sheathing 7/16" 4x9 OSB (1) 8'- 6 5/8" 4'

M Sheathing 7/16" 4x9 OSB (1) 8'- 6 5/8" 3'- 1/4"

Job: Elevation Report
Page: 86 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 85

85



Stud Spacing BF Weight

1'- 4" 49 222.00 lb

2830
Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

J KL
M

108

1'- 1/2" 4'- 2 1/2"

5'- 2 1/2"

3'- 11 7/8"4' SHEATHING

8' O/A FRAMING

2'- 8"

2'- 4 1/2"5'- 4" ROOM

Square: 11'- 8 1/4"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 8' 0'

B Top Plate 2x6 SPF No.2 (1) 8' 0'

C King Stud 2x6 SPF No.2 (2) 8'- 3 1/4" 0'

D Jack Stud 2x6 SPF No.2 (2) 6'- 1 1/4" 0'

E Header 2x8 SP No.1 (2) 2'- 11" 0'

F Header Sill 2x6 SPF No.2 (1) 2'- 11" 0'

G Window Sill 2x6 SPF No.2 (1) 2'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (3) 2'- 11 3/4" 0'

I Header Cripple 2x6 SPF No.2 (4) 1'- 5 1/4" 0'

J Stud 2x6 SPF Stud (4) 8'- 3 1/4" 0'

K Flat Stud 2x6 SPF Stud (1) 8'- 3 1/4" 0'

L Sheathing 7/16" 4x9 OSB (1) 8'- 6 5/8" 4'

M Sheathing 7/16" 4x9 OSB (1) 8'- 6 5/8" 3'- 11 7/8"

Job: Elevation Report
Page: 87 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 86

86



Stud Spacing BF Weight

1'- 4" 23 152.00 lb

2830
Holdback: 0'- 3/4" Extend: 0'- 5/8"

0'- 5 3/8"A

B

C D

E F

G

H

I

J

K

L
M N

1'- 1/2" 3'- 11 1/2"

4'- 2 1/2"

3'- 11 1/2" SHEATHING

4'- 2 1/2" O/A FRAMING

2'- 8"

4'- 2 1/2" ROOM

Square: 9'- 10 7/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 4'- 2 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 4'- 2 1/2" 0'

C King Stud 2x6 SPF No.2 (1) 8'- 8 5/8" 0'

D King Stud 2x6 SPF No.2 (1) 8'- 4 3/4" 0'

E Jack Stud 2x6 SPF No.2 (1) 6'- 6 5/8" 0'

F Jack Stud 2x6 SPF Stud (1) 6'- 6 5/8" 0'

G Header 2x8 SP No.1 (2) 2'- 11" 0'

H Header Sill 2x6 SPF No.2 (1) 2'- 11" 0'

I Window Sill 2x6 SPF No.2 (1) 2'- 8" 0'

J Sill Cripple 2x6 SPF No.2 (3) 3'- 5 1/8" 0'

K Header Cripple 2x6 SPF No.2 (5) 1'- 5 1/4" 0'

L Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

M Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/2"

N Sheathing 7/16" 4x9 OSB (1) 9' 0'- 2 7/8"

Job: Elevation Report
Page: 88 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 87

87



Stud Spacing BF Weight

1'- 4" 50 345.00 lb

28302830
Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

J K L M N

114

0'- 7 1/2"

2'- 2 1/2" 5'- 4 1/2" 6'- 5" 9'- 7"

1'- 7 5/8"3'- 11 1/4" 4'

SHEATHING

9'- 7"

O/A FRAMING

2'- 8" 2'- 8"

8'- 6"

ROOMSquare: 13'- 1 1/2"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 9'- 7" 0'

B Top Plate 2x6 SPF No.2 (1) 9'- 7" 0'

C King Stud 2x6 SPF No.2 (4) 8'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (4) 6'- 6 5/8" 0'

E Header 2x8 SP No.1 (4) 2'- 11" 0'

F Header Sill 2x6 SPF No.2 (2) 2'- 11" 0'

G Window Sill 2x6 SPF No.2 (2) 2'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (7) 3'- 5 1/8" 0'

I Header Cripple 2x6 SPF No.2 (9) 1'- 5 1/4" 0'

J Stud 2x6 SPF Stud (3) 8'- 8 5/8" 0'

K Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

L Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/4"

M Sheathing 7/16" 4x9 OSB (1) 9' 4'

N Sheathing 7/16" 4x9 OSB (1) 9' 1'- 7 5/8"

Job: Elevation Report
Page: 89 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 88

88



Stud Spacing BF Weight

1'- 4" 69 275.00 lb

2830
Flush Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

J K L M

90

3'- 1 1/2" 6'- 3 1/2"

4'4'

SHEATHING

9'

O/A FRAMING

2'- 8"

8'- 6 1/2"

ROOMSquare: 12'- 8 1/2"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" - 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 9' 0'

B Top Plate 2x6 SPF No.2 (1) 9' 0'

C King Stud 2x6 SPF No.2 (2) 8'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 6'- 6 5/8" 0'

E Header 2x8 SP No.1 (2) 2'- 11" 0'

F Header Sill 2x6 SPF No.2 (1) 2'- 11" 0'

G Window Sill 2x6 SPF No.2 (1) 2'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (4) 3'- 5 1/8" 0'

I Header Cripple 2x6 SPF No.2 (4) 1'- 5 1/4" 0'

J Stud 2x6 SPF Stud (6) 8'- 8 5/8" 0'

K Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

L Sheathing 7/16" 4x9 OSB (2) 9' 4'

M Sheathing 7/16" 4x9 OSB (1) 9' 1'- 5/8"

Job: Elevation Report
Page: 90 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 89

89



Stud Spacing BF Weight

1'- 4" 52 129.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5 1/2"

A

B

C D E

89

3'- 1"3'- 11 1/4"

SHEATHING

6'- 7 1/2"

O/A FRAMING

6'- 7 1/2"

ROOMSquare: 11'- 1 13/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 6'- 7 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 6'- 7 1/2" 0'

C Stud 2x6 SPF Stud (6) 8'- 8 5/8" 0'

D Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/4"

E Sheathing 7/16" 4x9 OSB (1) 9' 3'- 1"

Job: Elevation Report
Page: 91 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 90

90



Stud Spacing BF Weight

1'- 4" 96 239.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C D EF G H

115

5'- 4 1/4" 7'- 11 1/4"

2'- 8 5/8"3'- 11 1/4" 4'

SHEATHING

10'- 8"

O/A FRAMING

2'- 3 3/4"8'- 3/4"

ROOMSquare: 13'- 11 1/4"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 10'- 8" 0'

B Top Plate 2x6 SPF No.2 (1) 10'- 8" 0'

C Stud 2x6 SPF Stud (10) 8'- 8 5/8" 0'

D Flat Stud 2x4 SPF Stud (1) 8'- 8 5/8" 0'

E Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

F Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/4"

G Sheathing 7/16" 4x9 OSB (1) 9' 4'

H Sheathing 7/16" 4x9 OSB (1) 9' 2'- 8 5/8"

Job: Elevation Report
Page: 92 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 91

91



Stud Spacing BF Weight

1'- 4" 105 235.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C DE F G

119 117

4'- 7 3/4" 7'- 3 3/4"

3'- 11 1/4" 4'

SHEATHING

9'

O/A FRAMING

2'- 4 1/2"4'- 9 3/4"

ROOMSquare: 12'- 8 1/2"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 9' 0'

B Top Plate 2x6 SPF No.2 (1) 9' 0'

C Stud 2x6 SPF Stud (10) 8'- 8 5/8" 0'

D Flat Stud 2x6 SPF Stud (2) 8'- 8 5/8" 0'

E Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/4"

F Sheathing 7/16" 4x9 OSB (1) 9' 4'

G Sheathing 7/16" 4x9 OSB (1) 9' 1'- 5/8"

Job: Elevation Report
Page: 93 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 92

92



Stud Spacing BF Weight

1'- 4" 87 214.00 lb

Flush Extend: 0'- 5/8"

A

B

C D E F

94

2'- 8 5/8"4' 4'

SHEATHING

10'- 8"

O/A FRAMING

10'- 2 1/2"

ROOMSquare: 13'- 11 1/4"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" - 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 10'- 8" 0'

B Top Plate 2x6 SPF No.2 (1) 10'- 8" 0'

C Stud 2x6 SPF Stud (9) 8'- 8 5/8" 0'

D Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

E Sheathing 7/16" 4x9 OSB (2) 9' 4'

F Sheathing 7/16" 4x9 OSB (1) 9' 2'- 8 5/8"

Job: Elevation Report
Page: 94 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 93

93



Stud Spacing BF Weight

1'- 4" 58 227.00 lb

2856-2
Holdback: 0'- 3/4" Extend: 0'- 5 1/2"

A

B

C

D

E

F

G

H

I

JK L M

93

5'- 10"

1'3'- 11 1/4" 4'

SHEATHING

8'- 6 1/2"

O/A FRAMING

5'- 4"

8'- 6 1/2"

ROOMSquare: 12'- 4 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 8'- 6 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 8'- 6 1/2" 0'

C King Stud 2x6 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 6'- 6 1/2" 0'

E Header 2x8 SP No.1 (2) 5'- 7" 0'

F Header Sill 2x6 SPF No.2 (1) 5'- 7" 0'

G Window Sill 2x6 SPF No.2 (1) 5'- 4" 0'

H Sill Cripple 2x6 SPF No.2 (6) 0'- 11" 0'

I Header Cripple 2x6 SPF No.2 (6) 1'- 5 3/8" 0'

J Stud 2x6 SPF Stud (3) 8'- 8 5/8" 0'

K Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/4"

L Sheathing 7/16" 4x9 OSB (1) 9' 4'

M Sheathing 7/16" 4x9 OSB (1) 9' 1'

Job: Elevation Report
Page: 95 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 94

94



Stud Spacing BF Weight

1'- 4" 74 243.00 lb

3656
Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

J K L M

0'- 11 1/4"

4'- 11 1/4"

3'- 11 1/4" 4'

SHEATHING

9'

O/A FRAMING

3'- 6"

9'

ROOMSquare: 12'- 8 1/2"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 9' 0'

B Top Plate 2x6 SPF No.2 (1) 9' 0'

C King Stud 2x6 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 6'- 8" 0'

E Header 2x10 SYP No.1 (2) 3'- 9" 0'

F Header Sill 2x6 SPF No.2 (1) 3'- 6" 0'

G Window Sill 2x6 SPF No.2 (1) 3'- 6" 0'

H Sill Cripple 2x6 SPF No.2 (5) 0'- 11" 0'

I Header Cripple 2x6 SPF No.2 (5) 1'- 3 3/8" 0'

J Stud 2x6 SPF Stud (5) 8'- 8 5/8" 0'

K Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/4"

L Sheathing 7/16" 4x9 OSB (1) 9' 4'

M Sheathing 7/16" 4x9 OSB (1) 9' 1'- 5/8"

Job: Elevation Report
Page: 96 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 95

95



Stud Spacing BF Weight

1'- 4" 44 98.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C D E

121

1'- 3 3/4"

3'- 10 3/8"

SHEATHING

3'- 10 1/2"

O/A FRAMING

1'- 5 1/4" 2'- 1 3/4"

ROOMSquare: 9'- 9 1/4"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 3'- 10 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 3'- 10 1/2" 0'

C Stud 2x6 SPF Stud (4) 8'- 8 5/8" 0'

D Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

E Sheathing 7/16" 4x9 OSB (1) 9' 3'- 10 3/8"

Job: Elevation Report
Page: 97 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 96

96



Stud Spacing BF Weight

1'- 4" 61 138.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C DE
F

122

4'- 2"

1'- 4 5/8"3'- 11 1/4"

SHEATHING

5'- 4"

O/A FRAMING

0'- 9"4'- 3 1/2"

ROOMSquare: 10'- 5 3/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 5'- 4" 0'

B Top Plate 2x6 SPF No.2 (1) 5'- 4" 0'

C Stud 2x6 SPF Stud (6) 8'- 8 5/8" 0'

D Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

E Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/4"

F Sheathing 7/16" 4x9 OSB (1) 9' 1'- 4 5/8"

Job: Elevation Report
Page: 98 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 97

97



Stud Spacing BF Weight

1'- 4" 85 285.00 lb

2856-2
Flush Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

J K L M

99

3'- 2" 9'

2'- 8 5/8"4'4'

SHEATHING

10'- 8"

O/A FRAMING

5'- 4"

10'- 2 1/2"

ROOMSquare: 13'- 11 1/4"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" - 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 10'- 8" 0'

B Top Plate 2x6 SPF No.2 (1) 10'- 8" 0'

C King Stud 2x6 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 6'- 6 1/2" 0'

E Header 2x8 SP No.1 (2) 5'- 7" 0'

F Header Sill 2x6 SPF No.2 (1) 5'- 7" 0'

G Window Sill 2x6 SPF No.2 (1) 5'- 4" 0'

H Sill Cripple 2x6 SPF No.2 (6) 0'- 11" 0'

I Header Cripple 2x6 SPF No.2 (6) 1'- 5 3/8" 0'

J Stud 2x6 SPF Stud (5) 8'- 8 5/8" 0'

K Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

L Sheathing 7/16" 4x9 OSB (2) 9' 4'

M Sheathing 7/16" 4x9 OSB (1) 9' 2'- 8 5/8"

Job: Elevation Report
Page: 99 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 98

98



Stud Spacing BF Weight

1'- 4" 70 172.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5 1/2"

A

B

C D E F

98

3'- 11 1/4" 4'

SHEATHING

8'- 8 1/4"

O/A FRAMING

8'- 8 1/4"

ROOMSquare: 12'- 5 13/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 8'- 8 1/4" 0'

B Top Plate 2x6 SPF No.2 (1) 8'- 8 1/4" 0'

C Stud 2x6 SPF Stud (8) 8'- 8 5/8" 0'

D Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/4"

E Sheathing 7/16" 4x9 OSB (1) 9' 4'

F Sheathing 7/16" 4x9 OSB (1) 9' 1'- 1 3/4"

Job: Elevation Report
Page: 100 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 99

99



Stud Spacing BF Weight

1'- 4" 87 204.00 lb

Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C DE F G

128

3'- 4 1/2"

3'- 11 1/2" 3'- 11 3/4"

SHEATHING

9'

O/A FRAMING

3'- 6 1/2" 5'- 2"

ROOMSquare: 12'- 8 1/2"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 9' 0'

B Top Plate 2x6 SPF No.2 (1) 9' 0'

C Stud 2x6 SPF Stud (9) 8'- 8 5/8" 0'

D Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

E Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/2"

F Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 3/4"

G Sheathing 7/16" 4x9 OSB (1) 9' 1'- 5/8"

Job: Elevation Report
Page: 101 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 100

100



Stud Spacing BF Weight

1'- 4" 107 312.00 lb

2830
Holdback: 0'- 3/4" Extend: 0'- 5/8"

A

B

C

D

E

F

G

H

I

J K L M N

107 110

0'- 2"

5'- 5 3/4"

6'- 6 1/2"

9'- 8 1/2"

1'- 11 7/8"3'- 11 1/4" 4'

SHEATHING

9'- 11 1/4"

O/A FRAMING

2'- 8"

4'5'- 3/4"

ROOMSquare: 13'- 1 1/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 9'- 11 1/4" 0'

B Top Plate 2x6 SPF No.2 (1) 9'- 11 1/4" 0'

C King Stud 2x6 SPF Stud (2) 8'- 3 1/4" 0'

D Jack Stud 2x6 SPF No.2 (2) 6'- 2 3/4" 0'

E Header 2x8 SP No.1 (2) 2'- 11" 0'

F Header Sill 2x6 SPF No.2 (1) 2'- 8" 0'

G Window Sill 2x6 SPF No.2 (1) 2'- 8" 0'

H Sill Cripple 2x6 SPF No.2 (4) 2'- 11 3/4" 0'

I Header Cripple 2x6 SPF No.2 (4) 1'- 5 1/4" 0'

J Stud 2x6 SPF Stud (8) 8'- 3 1/4" 0'

K Flat Stud 2x6 SPF Stud (2) 8'- 3 1/4" 0'

L Sheathing 7/16" 4x9 OSB (1) 8'- 6 5/8" 3'- 11 1/4"

M Sheathing 7/16" 4x9 OSB (1) 8'- 6 5/8" 4'

N Sheathing 7/16" 4x9 OSB (1) 8'- 6 5/8" 1'- 11 7/8"

Job: Elevation Report
Page: 102 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 101

101



Stud Spacing BF Weight

1'- 4" 66 166.00 lb

Extend: 0'- 5 1/2" Extend: 0'- 5/8"

A

B

C D E F

85

1'- 4 5/8"4' 4'

SHEATHING

8'- 10 1/2"

O/A FRAMING

8'- 10 1/2"

ROOMSquare: 12'- 3 5/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" 0'- 5 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 8'- 10 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 8'- 10 1/2" 0'

C Stud 2x6 SPF Stud (8) 8'- 3 1/4" 0'

D Sheathing 7/16" 4x9 OSB (1) 8'- 6 5/8" 4'

E Sheathing 7/16" 4x9 OSB (1) 8'- 6 5/8" 4'

F Sheathing 7/16" 4x9 OSB (1) 8'- 6 5/8" 1'- 4 5/8"

Job: Elevation Report
Page: 103 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 102

102



Stud Spacing BF Weight

1'- 4" 61 150.00 lb

Flush Extend: 0'- 5 1/2"

A

B

C D E

104

3'- 11 1/2"4'

SHEATHING

7'- 6"

O/A FRAMING

7'- 6"

ROOMSquare: 11'- 8 5/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" - 0'- 5 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 7'- 6" 0'

B Top Plate 2x6 SPF No.2 (1) 7'- 6" 0'

C Stud 2x6 SPF Stud (7) 8'- 8 5/8" 0'

D Sheathing 7/16" 4x9 OSB (1) 9' 4'

E Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/2"

Job: Elevation Report
Page: 104 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 103

103



Stud Spacing BF Weight

1'- 4" 74 295.00 lb

2856-3

A

B

C

D

E

F

G

H

I

J K L M

3'- 4 1/2" 11'- 10 1/2"

3'- 11 1/8"4'4'

SHEATHING

11'- 10 1/2"

O/A FRAMING

8'

11'- 5"

ROOMSquare: 14'- 10 9/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" - 0'- 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 11'- 10 1/2" 0'

B Top Plate 2x6 SPF No.2 (1) 11'- 10 1/2" 0'

C King Stud 2x6 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x6 SPF No.2 (2) 6'- 8" 0'

E Header 2x8 SP No.1 (2) 8'- 3" 0'

F Header Sill 2x6 SPF No.2 (1) 8' 0'

G Window Sill 2x6 SPF No.2 (1) 8' 0'

H Sill Cripple 2x6 SPF No.2 (8) 0'- 11" 0'

I Header Cripple 2x6 SPF No.2 (8) 1'- 5 3/8" 0'

J Stud 2x6 SPF Stud (3) 8'- 8 5/8" 0'

K Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

L Sheathing 7/16" 4x9 OSB (2) 9' 4'

M Sheathing 7/16" 4x9 OSB (1) 9' 3'- 11 1/8"

Job: Elevation Report
Page: 105 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 104

104



Stud Spacing BF Weight

1'- 4" 35 78.00 lb

A

B

C D

3'- 3 3/4"

SHEATHING

2'- 11"

O/A FRAMING

2'- 11"

ROOMSquare: 9'- 5 3/16"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" -0'- 3/4" 0'- 5 

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 2'- 11" 0'

B Top Plate 2x6 SPF No.2 (1) 2'- 11" 0'

C Stud 2x6 SPF Stud (4) 8'- 8 5/8" 0'

D Sheathing 7/16" 4x9 OSB (1) 9' 3'- 3 3/4"

Job: Elevation Report
Page: 106 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 105

105



Stud Spacing BF Weight

1'- 4" 87 211.00 lb

A

B

C D E F

2'- 1 1/4"4' 4'

SHEATHING

10'- 1 1/4"

O/A FRAMING

9'- 7 3/4"

ROOMSquare: 13'- 6 1/8"

Sheathing Hold/Extend

Standard Material T B L R
7/16" 4x9 OSB 0'- 3/4" -0'- 3/8" - -

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x6 SPF No.2 (1) 10'- 1 1/4" 0'

B Top Plate 2x6 SPF No.2 (1) 10'- 1 1/4" 0'

C Stud 2x6 SPF Stud (9) 8'- 8 5/8" 0'

D Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

E Sheathing 7/16" 4x9 OSB (2) 9' 4'

F Sheathing 7/16" 4x9 OSB (1) 9' 2'- 1 1/4"

Job: Elevation Report
Page: 107 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 106

106



Stud Spacing BF Weight

1'- 4" 2 127.00 lb

2/6

A

B

C

D

E
F

G

3'- 11" 7'- 1"

9'

O/A FRAMING

2'- 8"

9'

ROOMSquare: 12'- 8 1/2"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 9' 0'

B Top Plate 2x4 SPF No.2 (1) 9' 0'

C King Stud 2x4 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 6'- 9 1/2" 0'

E Header 2x4 SPF No.2 (1) 2'- 11" 0'

F Header Cripple 2x4 SPF No.2 (4) 1'- 9 5/8" 0'

G Stud 2x4 SPF Stud (5) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 108 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 107

107



Stud Spacing BF Weight

1'- 4" 110.00 lb

A

B

C

9'

O/A FRAMING

9'

ROOMSquare: 12'- 8 1/2"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 9' 0'

B Top Plate 2x4 SPF No.2 (1) 9' 0'

C Stud 2x4 SPF Stud (8) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 109 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 108

108



Stud Spacing BF Weight

1'- 4" 84.00 lb

A

B

C

D

5'- 6 1/4"

O/A FRAMING

5'- 3/4"

ROOMSquare: 10'- 6 3/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 5'- 6 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 5'- 6 1/4" 0'

C Stud 2x4 SPF Stud (6) 8'- 8 5/8" 0'

D Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 110 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 109

109



Stud Spacing BF Weight

1'- 4" 11 177.00 lb

2/6 PkDr

A

B

C

D

E

F

G

H

I

J

0'- 3 1/2"

1'- 9" 7'- 6"

9'- 5"

O/A FRAMING

5'- 3"

8'- 1/4"

ROOMSquare: 13'- 1/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 9'- 5" 0'

B Top Plate 2x4 SPF No.2 (1) 9'- 5" 0'

C King Stud 2x4 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 6'- 11" 0'

E Header 2x6 SPF No.2 (2) 5'- 6" 0'

F Filler 7/16" 4x8 OSB (1) 5'- 6" 0'

G Header Sill 2x4 SPF No.2 (1) 5'- 6" 0'

H Header Cripple 2x4 SPF No.2 (6) 1'- 2 5/8" 0'

I Stud 2x4 SPF Stud (7) 8'- 8 5/8" 0'

J Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 111 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 110

110



Stud Spacing BF Weight

1'- 4" 6 185.00 lb

2/65/0 DBL

A

B

C

D

E F
G

H

I

0'- 2"

5'- 11" 8'- 4 1/2" 11'- 6 1/2"

11'- 6 1/2"

O/A FRAMING

2'- 8"5'- 3"

5'- 1"6'- 2"

ROOMSquare: 14'- 7 3/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 11'- 6 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 11'- 6 1/2" 0'

C King Stud 2x4 SPF Stud (4) 8'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (4) 6'- 9 1/2" 0'

E Header 2x4 SPF No.2 (1) 5'- 6" 0'

F Header 2x4 SPF No.2 (1) 2'- 11" 0'

G Header Cripple 2x4 SPF No.2 (10) 1'- 9 5/8" 0'

H Stud 2x4 SPF Stud (4) 8'- 8 5/8" 0'

I Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 112 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 111

111



Stud Spacing BF Weight

1'- 4" 92.00 lb

A

B

C D

6'- 8"

O/A FRAMING

6'- 4 1/2"

ROOMSquare: 11'- 2 1/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 6'- 8" 0'

B Top Plate 2x4 SPF No.2 (1) 6'- 8" 0'

C Stud 2x4 SPF Stud (6) 8'- 8 5/8" 0'

D Flat Stud 2x4 SPF Stud (1) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 113 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 112

112



Stud Spacing BF Weight

1'- 4" 53.00 lb

A

B

C

3'- 10 1/4"

O/A FRAMING

3'- 10 1/4"

ROOMSquare: 9'- 9 1/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 3'- 10 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 3'- 10 1/4" 0'

C Stud 2x4 SPF Stud (4) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 114 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 113

113



Stud Spacing BF Weight

1'- 4" 131.00 lb

A

B

C

D

7'- 11 1/4"

10'- 8"

O/A FRAMING

1'- 5 1/4"8'- 11 1/4"

ROOMSquare: 13'- 11 1/4"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 10'- 8" 0'

B Top Plate 2x4 SPF No.2 (1) 10'- 8" 0'

C Stud 2x4 SPF Stud (9) 8'- 8 5/8" 0'

D Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 115 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 114

114



Stud Spacing BF Weight

1'- 4" 2 144.00 lb

2/6

A

B

C

D

E
F

G

H

116

11491

3'- 11 1/4" 5'- 8 3/4" 8'- 10 3/4"

9'- 4"

O/A FRAMING

2'- 8"

4'- 1/2"5'

ROOMSquare: 12'- 11 5/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 9'- 4" 0'

B Top Plate 2x4 SPF No.2 (1) 9'- 4" 0'

C King Stud 2x4 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 6'- 9 1/2" 0'

E Header 2x4 SPF No.2 (1) 2'- 11" 0'

F Header Cripple 2x4 SPF No.2 (4) 1'- 9 5/8" 0'

G Stud 2x4 SPF Stud (6) 8'- 8 5/8" 0'

H Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 116 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 115

115



Stud Spacing BF Weight

1'- 4" 2 158.00 lb

2/6
TB

A

B

C

D

E
F

G
H

115117

0'- 1 1/2"

3'- 3 1/2" 6'- 7"

7'- 3 3/4"

8'- 9 1/4"

9'- 3 1/2"

O/A FRAMING

2'- 8"

9'- 3 1/2"

ROOMSquare: 12'- 11"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 9'- 3 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 9'- 3 1/2" 0'

C King Stud 2x4 SPF Stud (4) 8'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 6'- 9 1/2" 0'

E Header 2x4 SPF No.2 (1) 2'- 11" 0'

F Header Cripple 2x4 SPF No.2 (4) 1'- 9 5/8" 0'

G Stud 2x4 SPF Stud (5) 8'- 8 5/8" 0'

H Flat Stud 2x4 SPF Stud (1) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 117 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 116

116



Stud Spacing BF Weight

1'- 4" 16 184.00 lb

2/6

A

B

C

D

E
F

G H I

J

118

116

120

92

3'- 11 1/4" 6'- 4 3/4"7'- 2" 10'- 4"

10'- 11 3/4"

O/A FRAMING

2'- 8"

3'- 10 1/2"5'

ROOMSquare: 14'- 2 1/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 10'- 11 3/4" 0'

B Top Plate 2x4 SPF No.2 (1) 10'- 11 3/4" 0'

C King Stud 2x4 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 6'- 9 1/2" 0'

E Header 2x4 SPF No.2 (1) 2'- 11" 0'

F Header Cripple 2x4 SPF No.2 (4) 1'- 9 5/8" 0'

G Stud 2x4 SPF Stud (7) 8'- 8 5/8" 0'

H Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

I Flat Stud 2x4 SPF Stud (1) 8'- 8 5/8" 0'

J Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 118 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 117

117



Stud Spacing BF Weight

1'- 4" 38.00 lb

A

B

C

2'- 4 1/2"

O/A FRAMING

2'- 4 1/2"

ROOMSquare: 9'- 3 5/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 2'- 4 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 2'- 4 1/2" 0'

C Stud 2x4 SPF Stud (3) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 119 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 118

118



Stud Spacing BF Weight

1'- 4" 2 130.00 lb

2/6

A

B

C

D

E
F

G
H

1'- 11 5/8" 5'- 1 5/8"

6'- 9 3/4"

O/A FRAMING

2'- 8"

6'- 6 1/4"

ROOMSquare: 11'- 3 1/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 6'- 9 3/4" 0'

B Top Plate 2x4 SPF No.2 (1) 6'- 9 3/4" 0'

C King Stud 2x4 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 6'- 9 1/2" 0'

E Header 2x4 SPF No.2 (1) 2'- 11" 0'

F Header Cripple 2x4 SPF No.2 (4) 1'- 9 5/8" 0'

G Stud 2x4 SPF Stud (5) 8'- 8 5/8" 0'

H Flat Stud 2x4 SPF Stud (1) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 120 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 119

119



Stud Spacing BF Weight

1'- 4" 110.00 lb

A

B

C

117

9'

O/A FRAMING

9'

ROOMSquare: 12'- 8 1/2"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 9' 0'

B Top Plate 2x4 SPF No.2 (1) 9' 0'

C Stud 2x4 SPF Stud (8) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 121 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 120

120



Stud Spacing BF Weight

1'- 4" 109.00 lb

A

B

C

96

8'- 8 1/4" O/A FRAMING

8'- 8 1/4" ROOM
Square: 12'- 5 13/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 8'- 8 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 8'- 8 1/4" 0'

C Stud 2x4 SPF Stud (8) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 122 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 121

121



Stud Spacing BF Weight

1'- 4" 110.00 lb

A

B

C

97

9'

O/A FRAMING

9'

ROOMSquare: 12'- 8 1/2"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 9' 0'

B Top Plate 2x4 SPF No.2 (1) 9' 0'

C Stud 2x4 SPF Stud (8) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 123 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 122

122



Stud Spacing BF Weight

1'- 4" 11 154.00 lb

2/6

A

B

C

D

E
F

G H

125

4'- 10 3/4" 8'- 3/4"

9'- 4"

O/A FRAMING

2'- 8"

8'- 2 1/4"

ROOMSquare: 12'- 11 5/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 9'- 4" 0'

B Top Plate 2x4 SPF No.2 (1) 9'- 4" 0'

C King Stud 2x4 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 6'- 9 1/2" 0'

E Header 2x4 SPF No.2 (1) 2'- 11" 0'

F Header Cripple 2x4 SPF No.2 (4) 1'- 9 5/8" 0'

G Stud 2x4 SPF Stud (6) 8'- 8 5/8" 0'

H Flat Stud 2x6 SPF Stud (1) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 124 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 123

123



Stud Spacing BF Weight

1'- 4" 51.00 lb

A

B

C

111

3'- 4 1/4"

O/A FRAMING

3'- 4 1/4"

ROOMSquare: 9'- 6 7/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 3'- 4 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 3'- 4 1/4" 0'

C Stud 2x4 SPF Stud (4) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 125 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 124

124



Stud Spacing BF Weight

1'- 4" 81.00 lb

A

B

C

6'- 2 1/4"

O/A FRAMING

6'- 2 1/4"

ROOMSquare: 10'- 10 3/4"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 6'- 2 1/4" 0'

B Top Plate 2x4 SPF No.2 (1) 6'- 2 1/4" 0'

C Stud 2x4 SPF Stud (6) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 126 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 125

125



Stud Spacing BF Weight

1'- 4" 106.00 lb

A

B

C

D

127128

125 110

2'- 3 3/4" 4'- 11 3/4"

7'- 6 1/2"

O/A FRAMING

1'- 10 1/2" 2'- 1/2"3'- 1/2"

ROOMSquare: 11'- 8 5/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 7'- 6 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 7'- 6 1/2" 0'

C Stud 2x4 SPF Stud (7) 8'- 8 5/8" 0'

D Rung 2x4 SPF No.2 (8) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 127 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 126

126



Stud Spacing BF Weight

1'- 4" 81.00 lb

TB

A

B

CD E

126

0'- 6 1/2"

1'- 3 1/4" 2'- 8 3/4"

3'- 3"

O/A FRAMING

3'- 3"

ROOMSquare: 9'- 6 1/2"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 3'- 3" 0'

B Top Plate 2x4 SPF No.2 (1) 3'- 3" 0'

C King Stud 2x4 SPF Stud (2) 8'- 8 5/8" 0'

D Stud 2x4 SPF Stud (4) 8'- 8 5/8" 0'

E Flat Stud 2x4 SPF Stud (1) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 128 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 127

127



Stud Spacing BF Weight

1'- 4" 2 145.00 lb

2/6

A

B

C

D

E
F

G H

126

100

1'- 11" 5'- 1"

5'- 3 3/4"

7'- 10 3/4"

8'- 3 3/4"

O/A FRAMING

2'- 8"

8'- 1/4"

ROOMSquare: 12'- 2 3/4"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 8'- 3 3/4" 0'

B Top Plate 2x4 SPF No.2 (1) 8'- 3 3/4" 0'

C King Stud 2x4 SPF Stud (2) 8'- 8 5/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 6'- 9 1/2" 0'

E Header 2x4 SPF No.2 (1) 2'- 11" 0'

F Header Cripple 2x4 SPF No.2 (4) 1'- 9 5/8" 0'

G Stud 2x4 SPF Stud (5) 8'- 8 5/8" 0'

H Flat Stud 2x4 SPF Stud (2) 8'- 8 5/8" 0'

Job: Elevation Report
Page: 129 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 128

128



Stud Spacing BF Weight

1'- 4" 32.00 lb

A

B

C

D
E

1'- 10 1/8"

O/A FRAMING

1'- 10 1/8"

ROOMSquare: 7'- 5 3/4"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 1'- 10 1/8" 0'

B Top Plate 2x4 SPF No.2 (1) 2'- 8 13/16" 0' \45.00 \45.00 

C Stud 2x4 SPF Stud (1) 8'- 9 1/2" 0' /45.00 

D Stud 2x4 SPF Stud (1) 7'- 6 1/4" 0' /45.00 

E Stud 2x4 SPF Stud (1) 7'- 7/8" 0' /45.00 

Job: Elevation Report
Page: 130 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 129

129



Stud Spacing BF Weight

1'- 4" 45.00 lb

A

B

C D

1'- 1 1/2"

1'- 11 7/8"

O/A FRAMING

1'- 11 7/8"

ROOMSquare: 9'- 3 11/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 1'- 11 7/8" 0'

B Top Plate 2x4 SPF No.2 (1) 1'- 11 7/8" 0'

C Stud 2x4 SPF Stud (3) 8'- 10 1/8" 0'

D Flat Stud 2x4 SPF Stud (1) 8'- 10 1/8" 0'

Job: Elevation Report
Page: 131 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 130

130



Stud Spacing BF Weight

1'- 4" 111.00 lb

A

B

C D

132

9'

O/A FRAMING

8'- 8 1/2"

ROOMSquare: 12'- 9 9/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 9' 0'

B Top Plate 2x4 SPF No.2 (1) 9' 0'

C Stud 2x4 SPF Stud (8) 8'- 10 1/8" 0'

D Flat Stud 2x4 SPF Stud (1) 8'- 10 1/8" 0'

Job: Elevation Report
Page: 132 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 131

131



Stud Spacing BF Weight

1'- 4" 99.00 lb

A

B

C

133

131

8'- 1 1/2"

O/A FRAMING

8'- 1 1/2"

ROOMSquare: 12'- 2 5/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 8'- 1 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 8'- 1 1/2" 0'

C Stud 2x4 SPF Stud (8) 8'- 10 1/8" 0'

Job: Elevation Report
Page: 133 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 132

132



Stud Spacing BF Weight

1'- 4" 4 163.00 lb

2/62/6

A

B

C

D

E
F

G H

132

3'- 2" 4' 7'- 2"

7'- 7 1/8"

O/A FRAMING

2'- 8" 2'- 8"

3'- 3 3/8" 4'- 1/4"

ROOMSquare: 11'- 10 3/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 7'- 7 1/8" 0'

B Top Plate 2x4 SPF No.2 (1) 7'- 7 1/8" 0'

C King Stud 2x4 SPF Stud (4) 8'- 10 1/8" 0'

D Jack Stud 2x4 SPF No.2 (4) 6'- 9 1/2" 0'

E Header 2x4 SPF No.2 (2) 2'- 11" 0'

F Header Cripple 2x4 SPF No.2 (8) 1'- 11 1/8" 0'

G Stud 2x4 SPF Stud (4) 8'- 10 1/8" 0'

H Flat Stud 2x4 SPF Stud (1) 8'- 10 1/8" 0'

Job: Elevation Report
Page: 134 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 133

133



Stud Spacing BF Weight

1'- 4" 93.00 lb

A

B

C

D

136

5'- 11 1/2"

7'- 5"

O/A FRAMING

7'- 1/8"

ROOMSquare: 11'- 8 13/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 7'- 5" 0'

B Top Plate 2x4 SPF No.2 (1) 7'- 5" 0'

C Stud 2x4 SPF Stud (7) 8'- 10 1/8" 0'

D Rung 2x4 SPF No.2 (4) 1'- 2 1/2" 0'

Job: Elevation Report
Page: 135 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 134

134



Stud Spacing BF Weight

1'- 4" 33.00 lb

A

B

C

D
E

1'- 10 1/8"

O/A FRAMING

1'- 10 1/8"

ROOMSquare: 9'- 3 3/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 1'- 10 1/8" 0'

B Top Plate 2x4 SPF No.2 (1) 2'- 8 13/16" 0' /45.00 /45.00 

C Stud 2x4 SPF Stud (1) 7'- 7/8" 0' \45.00 

D Stud 2x4 SPF Stud (1) 8'- 4 1/8" 0' \45.00 

E Stud 2x4 SPF Stud (1) 8'- 9 1/2" 0' \45.00 

Job: Elevation Report
Page: 136 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 135

135



Stud Spacing BF Weight

1'- 4" 36.00 lb

A

B

C

2'- 8 1/2"

O/A FRAMING

2'- 8 1/2"

ROOMSquare: 9'- 5 7/8"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 2'- 8 1/2" 0'

B Top Plate 2x4 SPF No.2 (1) 2'- 8 1/2" 0'

C Stud 2x4 SPF Stud (3) 8'- 10 1/8" 0'

Job: Elevation Report
Page: 137 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 136

136



Stud Spacing BF Weight

1'- 4" 2 133.00 lb

2/4

A

B

C

D

E
F

G

H

0'- 5" 3'- 5" 6'- 5 1/4"

7'- 3 5/8"

O/A FRAMING

2'- 6"

7'- 1/8"

ROOMSquare: 11'- 7 15/16"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 7'- 3 5/8" 0'

B Top Plate 2x4 SPF No.2 (1) 7'- 3 5/8" 0'

C King Stud 2x4 SPF Stud (2) 8'- 10 1/8" 0'

D Jack Stud 2x4 SPF No.2 (2) 6'- 9 1/2" 0'

E Header 2x4 SPF No.2 (1) 2'- 9" 0'

F Header Cripple 2x4 SPF No.2 (3) 1'- 11 1/8" 0'

G Stud 2x4 SPF Stud (5) 8'- 10 1/8" 0'

H Flat Stud 2x4 SPF Stud (2) 8'- 10 1/8" 0'

Job: Elevation Report
Page: 138 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 137

137



Stud Spacing BF Weight

1'- 4" 32.00 lb

A

B

C

D
E

1'- 10 1/8"

O/A FRAMING

1'- 10 1/8"

ROOMSquare: 7'- 5 3/4"

Cutting List
Label Member Description Qty Length Width L Miter R Miter L Bevel R Bevel

A Bottom Plate 2x4 SPF No.2 (1) 1'- 10 1/8" 0'

B Top Plate 2x4 SPF No.2 (1) 2'- 8 13/16" 0' \45.00 \45.00 

C Stud 2x4 SPF Stud (1) 8'- 9 1/2" 0' /45.00 

D Stud 2x4 SPF Stud (1) 7'- 6 1/4" 0' /45.00 

E Stud 2x4 SPF Stud (1) 7'- 7/8" 0' /45.00 

Job: Elevation Report
Page: 139 of 139

Date: 12/18/2021 08:08:32

Level: <Multiple> Bundle: <None> Panel: 138

138




